PERCENTAGE
afeemaan

7
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TYPE-A
If 80% of A= 350% of B and B = x%
of A, then the value of xis :
afk A 80% = B# 50% & & B
= A® X%%, T x F IA TG FHI
(a) 400 (b) 300
(c) 160 (d) 150
If x 1s 80% of y, what percent of
xis y?
afe v F 80%, x %, @ x F T
ufeer y #72
(a) 75% (b) 80%
(c) 100% (d) 125%
If 8% of x is the same as 4% of
Yy, then 20% of x is the same as :
4 xF 8%,y 4% ® W T,
X F1 20% fFa$ == gm ?
(a) 10% of y (b) 16% of y
() 80% of y  (d) 50% of y
If 120 1s 20% of a number, then
120% of that number will be :
fdt "em #1 20% ,120 &, @ =&
Hear w1 120% fwam =m?
(a) 20 (b) 120
(c) 480 (d) 720
If x 1s less than y by 25% then
v exceeds x by : , _
afz x, y 8 25% B Faly , x §
foprm atfurs 2 2 '

1
(a) 333 % (b) 25%

(c) 75% (d) 66§

If P% of Pis 36, then P is equal to:
o P P %, 36 % a4 P thas agat & ?
(a) 3600 (b) 600

(c) 60 (d) 15

2 is what percent of 50 ?

2, 50 #1 fa wfewd & 7

(a) 2% (b) 2.5% (c) 4% (d) 5%

10.

11.

12

13.

14.

If 10% of m 1s the same as 20%
of n, then m :n i1s equal to :

7 mF1 10%, n H 20% & T &,
A m: n HOAA R ?

@2:1 (b)1:2

(@ 1:10 (d)1:20

The ratio 5 : 4 expressed as a
percent equals :

5: 4 % 9 i gfeerd § fera feren O

LM ?
(a) 125% (b) 80% .
(c) 40% (d) 12.5%

0.15% of 335% of* 10000 is :

2
‘10000 = M=% w1 0.15%
a1 gtm?

(@)Rs. 5 { (b) Rs.150

(c) R&70:05 (d) Rs.105

30% ofx is 72. The value of x is:
X F-30% , 72 &, d X F1 4A Fa F?
(&) 216 (b) 240

(c) 480 (d) 640

If 15% of (A + B) = 25% of (A -
B), then what per cent of B is
equal to A?

(A+B) #1 15% = (A-B) #1 25% #,
Al B &1 e wfive A & agsr B ?
(a) 10% (b) 60%

(c) 200% (d) 400%

What is 20% of 25% of 300 ?
300 F1 25% #1 20% fan & ?
(a) 150 (b) 60

(c) 45 (d) 15

25
If x% of -2_is 150, then the

value of x is:

25 :
w5 w X% , 150 %, @ x& 7H

T 2

15.

16.

L7

18.

19.
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(a) 1000 (b] 1200

(c) 1400 (d) 1500
18% ofwhlch number is equal
to 12% of 75 ?

ol gE #1 18% ,75 # 12% %

_ETET-E ?
(8750 (b) 100
(c) 2 @ o

; : 1
If the income of Ram 1s 125 %

more than that of Shyam, the
income of Shyam 1s less than

that of Ram by

1
afs 7 F A, TEm o 125% sfirs

%, df v Ft ama T 9 fEe ot
FAE

@ 115% (0 121 %

1 1
© 977% @ 1177%

X’s income is 20% more than
that of Y. What per cent 1s Y's
income less than X ?

XH I y ¥ 20% #AfeF & @y B
o x ¥ et sfaym +0 € 7

(a) 83 5% (b)163 %

()835% ()165%

The time duration of 1 hour
45 minutes is what percent
of a day?

1 %1 45 fire w o =1 fen o @ 2
(a) 7.218 (b) 7.291
(c) 8.3 (d) 8.24
Which number 1s 40%
than 90% of 100?

®H @ "wem 100 F 90% | 40% HH
BT ?
(a) 36
(c) S0

less

(b) 54
(d) 60
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20.

21.

22.

23.

24.

235.

26.

27.

I[f30% of A=0.250of B= %ofC,

then A: B : C is equal to
gt A =1 30% = B=r 0.25=C =t

%%,H’IA:B:CWW%?
(@)5:6:4 (b)5:24:5
(c)6:5:4 (d) 10 : 12: 15

0.01 is what per cent of 0.1 ?
0.1 =1 fera wleera 0.01 &2

” 1,

() 10% b 75%
100% d B Y
[C] L [ ] 100 ¢

The difference of two numbers
is 15% of their sum. the ratio
of the larger number to the
smaller number is:

T "emsl w SR, S am #; 15%
2, dl 9l e e S Wen 1 S
A L2

(@) 23 : 17 (b) 11:9

(¢) 17 : 11 (d) 23 : 11

P is six times as large as Q. The
percent that Q is less than P, is :
P,Q¥ 6T @ &, d Q,PH fdan
whew B & ?

1
(@) 833%  (b) 70%

© 635%  (d) 50%

65g is what per cent of 2 kg ?
65g , 2 THI. &1 faT ufavd & 7

@ F% ) g%

(d) —%

Ha]f of 1 percent, wntt;en as a
decimal, is:

l%mmnmaﬂﬁ-.m;m{m

Smom 7
(a) 0.2 (b) 0.02
(c) 0.005 (d) 0.05

1.14 expressed as a percent of
1.9 1s:

1.9 =1 foFa wfawm 1.14 € ?
(a) 6% (b) 10%
(c) 60% (d) 90%
0.001 is equivalent to:
0.001 fFe® wew & ?

270 |
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28.

29.

30.

- 31.

32.

(a) 10% (b) 1%

(c) 0.01% (d) 0.1%

If "basis points" are defined so
that 1 percent is equal to 100
basis points, then by how many
basis points is 82.5 percent
greater than 62.5 percent.

afg ! s faged" #1 w8 vER ufrfi

feran e foF 1 wfiea 100 sen fagar

% aeE ¢ o e emum fag 62.5
wfaer @ 82.5 wiavm st 27
(a)0.2 (b) 20

(c) 200 (d) 2000

There 1s a 4% 1increase 1n
volume when a liquid freezes
to 1its solid state. The

percentage decrease when
solid melts to liquid again, 1s

TE RE A AT SE oeEeen § W9y

34.

35.

360
© 1000 ® 25% F 1% # 1% Tha

Sl 2 A 3HF FEd W 4% H afg e O

W 21 G B A e § e W

T | fead wiwa w8 et

[a]3—% 4% / 3

(c) 4 == % [df 3 Pt %

What wnll be:'..the percentage of
increase ‘inthe area of a
square When each of the its
sideg s, }ncreased by 10%?

A st anf @1 g e # 10%
- WY A SEE eEed ¥ A

Coffeem #1 gfs @it
. (a)20 (b) 11
(c) 121 (d)21

One- third of 1206 i1s what per
cent of 134 ?

1206 %1 w=-fies, 134 #1 e v 72
(a) 100% (b) 150%
(c) 200% (d) 300%
If 120% of a 1s equal to 80% of

b, thcn%%is equal to

afg a F 120% , b & 80% & =EL

39 22 e w # 7
(a) 5 (b) 6
(©) 7 (@8

33. If 50% of (P - Q) = 30% of (P +Q)

and Q = x% of P, then the value
of x1is :

37.

38.

39.
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(P-Q) F150% = (P+Q ) & 30% qell
Q=P x%¢, d x & AF A HL7
(@) 30 (b)25 () 20 (d) 50
25% of 120 + 40% of 380 = ? of 637
120 %1 25%+380 # 40% = ? 637
w1 fa wm em?

2
@ Bl ©F @3

S—Of

What i1s 27% of 36% of 9

45007

4500 m%m 36% 1 27% 1 &7
(a) 2*'3'9__ ; (b) 241

(c) 243 (d) 245

1%of 1% of 25% of 1000 is:

grm?
(a) 0.025 (b) 0.0025
(c) 0.25 (d) 0.000025

If 60% of A = 30% of B, B = 40%
of C and C = x% of A, then value
of x1is

aff AF1 60% =B# 30% %, B=C
F1 40% 3R C= AF1 X% 2, @ xF
oM &

(a) 800 (b) 200
(c) 300 (d) 500
TYPE B

If 80% of a number added to 80
gives the result as the number
itself, then the number is:

7z feredt Tem & 80% 1 80 wirer =
%, @ ura afome em & SUeR §,
e e ?
(a) 200
(c) 400

(b) 300
(d) 500

2
A person who spends 665 % of

his income 1s able to save *
1200 per month. His monthly
expenses (in ') is :

2
U AR A AE H Gﬁg%tﬁ

F= '1200 mfes w99 F ¥,
SEH afew =l (@ 2

(a) 1,200 (b] 2,400

(c) 3,000 (d) 3,200
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40.

41.

42.

43.

44,

45.

46.
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The income of C 1s 20% more
than B’s and the income of B is

25% more than A’s. Find by how
much percent is C’s income
more than A’s ?

C # 31, B¥ 20% s & 3in B #1
aM, A¥ 25% #fek €, & C#1 2, A
Y fope vfowa o & 7

(a) 150% (b) 50%

(c) 25% (d) 35%

If A exceeds B by 40%, B is less
than C by 20%, then A : C 1s :
afc A, B9 40% sifus ¢ 3t B, C &
20% %9 &, @ A - C =1 gm ?

(a) 28 : 25 (b) 26 : 25

(c) 14: 27 (d) 27 : 14

In a school 70% of the students
are girls. The mamber of boys are
510. Then the total number of
students in the school is :

wF famem § 70% famnef w=feat £
@eH # "gem 5108, d el W He
fopaa farneff € 2

(a) 850 (b) 1700

(c) 1830 (d) 1900
When 60 1s subtracted from
60% of a number, the result is
60. The number is :

fodt T % 60% ¥ W 60 T2 W
qftoms 60 #r@ €, A Wemn e ?
(a) 120 (b) 150

(c) 180 (d) 200

The difference of two numbers

is 20% of the larger number. If
the smaller number is 20, the
larger number is :

3 He 1 SR 78 Wem w1 20% B aﬁ )
B "er 20 %, @ 9 gen 36w

(a) 25 (b) 45 _

(c) 50 (d) 80 %

If A’s income 18 40%'..18:89' than
that of B, how much percent B’s
income is more than that of A ?
aft A %1 o1, B 440% %9 €, @ B
* o, A ¥ fFad vfaem wifus 7 2
(a) 60% (b) 40%

(c) 66.66% (d) 33.33%

Two numbers are respectively
20% and 50% of a third num-

ber. What percent is the first
number of the second ?

3 ded dEh wem ' owmen: 20%
ae 50% 2, d Teel wen gud weA
%1 fofa ufeea & 2

47 .

48.

49.

50.

51.

o2.

{Her and 25,
_ number is:

(a) 10% (b) 20%

(c) 30% (d) 40%

If a mamber x1s 10% less than an-
other number y and yis 10% more
than 125, then x is equal to:

afg T W x, §H e y € 10%
F0 % Ay , 1259 10% =1fers 2, a
x frad T ® 7

(a) 150 (b) 143

[c) 140.55 (d) 123.75

Two numbers are more than the
third number by 20% and 50%
respectively . Find the first num-
ber is what percent of the second
number ?

3 Head, gl e o wEe: 20%
Ao 50% e &, i Teelt ge, gud
T F1 fohad wfawd € 7

(a) 100% (b) 150%

(c) 80% (d) 120%

If 60% of A's income 1s equal to
75% of B’s income, then B s_"in—
come is equal to x% of: _A’s -
come. The value of x 18":
ﬂfe:AaﬁamamO%,Baﬁamm
75% % R &, °f BAI 3, AF 3™
F X% Eﬁm% F X 7 T R 2
(a) 70 (b) 60

[c) 80 " (d) 90

Two numbers are in the ratio
2 3% ff 20% of the smaller num-

ber added to 20, is equal to the

sum’of 10% of the larger num-
then the smaller

A wed 2 : 3 % I § 8 3 B
HEm % 20% 9 20 S S E 9w
T, 9t §el & 10% 9 25 3 8,
T BE TEN AW FL?

(a) 100 (b) 160

c) 180 (d) 200

Two number are respectively
20% and 50% more than a third

number. Then the ratio of the
two numbers 1s:

4 Hean, el g 9 wEn 20%
Aen 50% atfies 2, @ AT Hemat W

AT FE B ?
(a) 9:0:5 (b)3:5
)4:5 (d)6 :7

15% of 45% of a number is
105 .3. What 1s 24% of that nuim-
ber.

53.

54,

55.

56.
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fdt wem # 45% #1 15%, 105.3
& 3| wEm 1 24% F € ?

(a) 385.5 (b) 374.4

(c) 390 (d) 375

The monthly income of a person
was * 13,500 and his monthly ex-
penditure was * 9,000. Next vear
his income increased by 14%
and his expenditure increased
by 7%. The percentage increase
in his savings was:

uF wfa w1 wifes 9@ 13,500
3t zwE wifgs =+ 9000 1 3hmw
9 SUF AT 14% 98 oW © @i
IGH B % =g WMl €, @ SHH T
o gl s @ w2
(@), 7%~ (b) 21%

(c) 28% (d) 35%

A number if reduced by 25% be-

~comes 225. By what percent
‘should it be increased so that

it becomes 375 ?
us e & 5a 25% =l fear A §
dt a8 Wear 225 8 W #1 T den o

et wfeera %1 gfs 7t S % == d@en
375 & wm?

(a) 25% (b) 30%

(c) 35% (d) 75%

Out of two numbers,40% of the
greater number is equal to 60%
of the smaller, If the sum of
the numbers 1s 150, then the
greater number is

3 demstt § A 9t ge #5140%, B
e F 60% % wUa ¥ AfE gens =
4 150 &, @ a2t wem w1 82

(@) 70 (b) 80 (c) 90 (d) 60
Given that, 10% of A’s income =
15% of B’s income = 20% of C's
income. If sum of their incomes
s ' 7800, then B’s income is :
feon T ¥, A = @M w1 10% = B i
3 #1 15% = C &t s/ F 20%!
afe o=l * smEl @ A 7800 g4 B
A AW FL?

(a) * 3600 (b) * 3000

(c) * 2400 (d) * 1800

If Nita’s salary is 25 percent
more than Papiya’s salary, then
the percentage by which
Papiya’s salary is less than
Nita’s salary is:

afe a1 &, o | 25% fEF T @

ofter 1 S A & R AR e R
(a) 15% (b) 20%
(c) 25% (d) 32%
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58.

59.

60.

61.

62.

63.
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X has twice as much money as
that of Y and Y has 50% more
money than that of Z. If the av-
erage money of all of them is°

110, then the money, which X
has is:

X, % U9 Y¥ A E e AR Y ®
U Z A 50% AfaF w9 §) AR @
F T o ofem 110 % @ X & urw
forad 9 27

(a) * 55 (b) * 60

(c) 90 (d) "180
Tulsiram’s salary is 20% more
than that of Kashyap. If
tulsiram saves ' 720 which 1s
4% of his salary, then
Kashvap’s salary 1s

O F1 A, F9I9 ¥ 20% Hfew
21 9fg gordim 720 & 994 T €, S
IS A9 1 4% ©, a9l HYIY 1 Ao
M w7

(a) * 15,000 (b) * 12,000

(c) * 10,000 (d) * 22,000

If A’s income is 25% less than
B’s income then by what per-
cent 1s B’s income more than
that of A ?

=fs A%t 3T, B® 25% %0 2, @ B
# 3, A ° fFad wfavm aifus € 2

(a) 25% (b) 30%

1 2
(c) 335% (d) 665%

A’s salary is 40% of B’s salary
and B’s salary is 25% more

64.

65.

66.

67.

than C’s salary then C’s salary

is how much percentage more"'_ }

than A?

A F1 3, B?éﬁ?mw%%am

B =1 =49, C?ﬁramazs%mf
F ¢, d C #1 a, Aﬁfﬁmuﬁ‘aﬁ

afs & 7
(a) 50% Ab) 100%
(c) 150% (d) 200%

If A exceeds B by 60% and B is
less than C by 20%, then A : C 1s
aft A, B ¥ 60% afus & 2t B, C
¥20%FAE A A:CFEM?
(a) 32 : 25 (b) 25 : 32
(c)8:5 (d) 4:5

In an examination, 93% of stu-
dents passed and 259 failed. The
total maumber of students appear-
ing at the examination was:

272 |

68.

69.

TF e § 93% B TEE TW € adl
259 B FEEE T SW , d@ when §
BEN FI HA TeA o ?

(a) 3700 (b) 3850

[c) 3950 (d) 4200

If 24-carat gold 1s considered to
be hundred per cent pure gold,
then the percentage of pure
gold in 22-carat gold 1s :

gfg 24 ¥ 9 1 4 gfawa s 9=
T S #, A 22 i gF H, i w9
*1 W T w2

3 2
(a) 915% (b) 912%
1 2

If 30% of A is added to 40% of B,
the answer 15 80% of B. What
percentage of A 1s B ?

a5 A%130% , BF 40% ¥ gl 72
T, ASHBF 80% s &, @t Awr T

e ufae, B ?
(a) 30% (b) 40% .
(c) 70% (d) 75%,/

First and second numbers ‘are less
than a third number by 20% and
40% respectively. The second
number is less than the first by:

Tﬁﬁamm’ﬂm el e @ F
20% qer 40% /=8 %, @ @l g,
Teel gen.  fea favm ww €2
(a) 7% _- ) (b) 4%

(c) 3% (d) 25%

One-third of a number is 96. What
“will 67% of that number be?

. Tt wem =1 O werE 96 ' d 39

He F1 67% F T

ja) 192.96 (b) 181.44

(c) 169.92 (d) 204.48

If x% of a 1s the same as 1% of
b, then 2% of b will be

T a®wx %, bF y% s auR €,
b = 2% fam sm?

@) E%ofa (b) 3 %ofa

) Z%ofa (d) L%ofa

If ¥% of one hour 1s, 1 minute

12 seconds, then y 1s equal to
1 52 F: %, 1fFe 12 490e 2, dr

y foresh w27

@) 2 (b) 1
1

o) 5 () 5

70.

T1.

A number is divided into two
parts in such a way that 80%
of 1% part 1s 3 more than 60%
of 224 part and 80% of 2™ part is
6 more than 90% of the 1 part.
Then the number is:

UF HEA 8 9T H 3§ TEN A
S # R weel | 80%, gEL |
*60% 4 3 wfaw 2, 2 g@y 9w w1
80%, T&et 9 5 90% ¥ 6 ferF 2,
A Wem F #7

(@) 125 (b) 130

(c) 135 (d) 145

A number, on subtracting 15
from it reduces to its 80%.
What 1 18" 40% of the number ?

wF G @ 15 2R 9w g, @ 9w
szt 80% & I %, 9 39 g'A

'40% fa gm?

3.

T
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~ @) 75

. A number

(b) 60  c) 30 (d) 90

Given A is 50% larger than C
and B 1s 25% larger than C,
then A is what percent larger

than B ?
fem & A, C §50% =i & 3RB,CH

2% 31 &, A, B & e own 31eer 27
(a) 25% (b) 50%
(c) 75% (d) 20%

What is to be added to 15% of
160 so that the sum may be
equal to 25% of 240 ?

160 & 15% ¥ foae sirgr s f& am
240 % 25% & T FI?

(@) 24 (b) 84 (c) 60 (d) 36
In an examination A got 25%
marks more than B, B got 10%
less than C and C got 25% more

than D. If D got 320 marks out of
500, the marks obtained by A were

UF T H, A ®l, B9 25% ¥iw aify
F U< g¢ B H1 CH 10% %7 3% ura
g0 3R CH D A 25% 3% aiferw wra
gl Ffs D #1500 ® § 320 3% 99 BT
&, @ A =i fFad &% ura gu?

(a) 405 (b) 450

(c) 360 (d) 400

increased by

1 .
22§%glves 98 as result. The

number is:

. = 1 g
uF GE & 22§%aafmsﬂa1%‘,m

€ 98 1 Wt &, A Hem = g ?
(a) 45 (b) 18 (c) 80 (d) 81
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76.

i

78.

79,

80.

81.
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When 75 is added to 75% of a
number, the answer is the num-

ber. Find 40% of that number.
TF =9 % 75% § 99 75 Sier s
2, @t e uftony 35 S F aue g
2, @ s\ "en W 40% T FHE?

(a) 100 (b) 80

(c) 120 (d) 160

The number that is to be added
to 10% of 320 to have the sum
as 30% of 230 is:

320 % 10% ¥ fora <irer =i & aftony
230 % 30% & U=’ B WY ?

(@) 37 (b)32 (923 (d)73

If X i1s 20% less than Y, then
v-x

T and

find the wvalue of

X .
X=y

gfe X, Y ¥ 20%

54
- ?
= FTOHA AT T

1
(@) =4 (b) 54
2 5 3 3
(€ 577 (d) 535
In a village 30% of the population

1s literate. If the total population
of the village 1is 6,600, then the

number of literate is:

TF e # 30% i W 2| A e
*1 Fel S 6,600 B, i wier #i
we qEa = E7
(a) 1980

() 2200

(b) 4620
(d) 3280

Two numbers A and B are such/

82.

83.

84.

85.

that the sum of 5% of A and 4% '

of B is % rd of the sum of 6“/9 ofA
and 8% of B. The rat:ig-fs'ﬁ\;: B is:
3 ged A B3E WeRE R A S
5% A9 B % 4% FHT AT, A F 6% 3iR

= - - 2 3 -
B# 8% % dm & 3 g, AA:B=r

ST F OB
(@) 4:3 (b) 3:4
(€)1:1 (d)2:3

A number is increased by x%;
to get back to the original num-
ber, it is to be reduced by?

TF WA H x% 9@ K wm sias
e e &1 & ford g8 feem ufaea
A E?

86.

10x 100x
@ Tomx () 1000
X
(c) X% (d) Toomc %

One-fifth of half of a number is
20. Then 20% of that number is
Tt e % w19 1 diear feem 20 B
A 3§ "ew w1 20% €

(a) 80 (b)60 (c) 20 (d) 40

TYPE C

Price of sugar nises by 20%. By
how much percent should the
consumption of sugar be

reduced so that the expenditure
does not change ?

= % Ted § 20% #i 9 2 S g, @
= % @9 ! feraA wieva 1 T @
wifeR = 9t e srafefdn €7

(a) 20% (b) 10%

2
(c) 163 % (d) 15%

What percent decrease in sél;
ary would cxactly cancel qut the
20 percent increase 2/

3 7 fore fgera =t a’n"l 20% ngg =l
AR 7 "

ooy 2
(@) 20% /b 165%

) 335__% s (d) 18%

If food ;ﬁf"’ices go up by 10%, by

how much should a man reduce

_-his consumption so as not to in-
“crease his expenditure ?

) A s & 959§ 10% 93 5 S g,

A T = A = o R ufane
F T F F wE A 927

1
(a) 9—=%

— (b) 10%

2 o,
(c) Qﬁ Yo
([d) The data is not sufficient
The price of an article is
decreased by 10%. To restore its
former value the new price must
be imcreased by:
fopelt ag & o W 10% 1 FHt 371 St
2, il Tl % g ST A F o
T3 ® fore wfoem =t 9fg w0 @0l ?
[a) 10% (b) 11%

) 11%% (d) 11%%

87. Salary of a person is first

838.

increased by 20%, then it is
decreased by 20%. Then the
percentage change in his
salary is:

T =i 1 59 Teel 20% =9 &3 5
2, TP 20% =1 fen <in &, < 36 o
H foree wfawm =1 afiac gam?

(a) 4% decreased

(b} 8% increased

(c) 8% decreased

(d} 20% increased

The price of an article was in-
creased two times succes-
sively by 10% each time. By
what percent should the new
price be reduced so as to
restoré the original price.
A% @ A | aan | a8 10%
HHFANG I H | T F S

Y e wa w9 # o 9@ 8w

89.

90.

O fRa ufav 1 HE R gRi?
(a) 15% (b) 17.36%
(c) 17% (d) 16.36%

If price of a book is first de-
creased by 25% and then in-
creased by 20%, the net change
in the price of the book will be :
afy fFet fem =1 5v9 wed 25%
el W| § R R 20% =@ fam
S ®, @ fRae @t Fma H fEan
arRifes qiEdd SAEm?

(a) 10% decrease

(b) 5% decrease

(c) no change

(d) 5% increase

A worker suffers a 20% cut in
his wage. He may regain his
original wages by obtaining a
rise of how much % ?

T AL & Ao # 20% F FAT
F I €, S T B W TG
et 3a% fod T wfovm gfs =t
SEYIEA Tt?
(a) 27.5%

(c) 22.5%

(b) 25.0%
(d) 20.0%

91. A number is increased by 20%
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and then again by 20%. By what
per cent should the increased
number be reduced so as to get
back the original number ?
TF WEN F Ugel 20% FEr 96 € S0
i 20% #R sgEn S 1 WeE T
T &t fora afavra e s fh omdfies
TEA Wl @ Sme?

5 11
(@) 305% (b) 19-57%

(c) 40% (d) 44%
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93.

94.

95.

96.
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The number of employees work-
ing in a farm is increased by
25% and the wages per head are
decreased by 25%. If it result in
1% decrease in total wages, then
the value of x 1s:

forddt ot F wergd *1 HeAr 25% 9a@1
& st & wen wfa st wegd W 25%
FH wT A A 21 gioTEd: Hegh o
X% F fiEe a0 st 2, @ x F A

M =2

(a) 0% (b) 25%
a5

(c) 20% (d) 5%

The price of an article was in-
creased by r%. Later the new
price was decreased by 1%. If the
latest price was ' 1, then the
original price was :

et og & 7o W% 3t gl | &
T a8 H T qed § [ 1% H FH H
<t ) Ak e o koAl §, o 9w
W AEF Yod T oa1?

. .l—rg
(@) " 1 () =

L oA1—p2 . (__10000
©" oo (D" { Too00—2 )

The Government reduced the
price of sugar by 10 per cent.
By this a consumer can buy 6.2
kg more sugar for * 837. The
reduced price per kg of sugar is:
ER 7+ F ged w: 10% =2 @
TWEH TR UF UeE 837 H 6.2 fF.
. = sifus @i ged &, o =9 B
wvad ufa fEam. = @ g w22
(a) * 12.50 (b) * 13.00

(c) * 13.50 (d) * 14.00 -
The price of sugar is incredsed
by 20%. If the expenditu_é_ne on
sugar has to be kept thesame as
earlier, the ratio betwéen the re-
duction in consumptiofiiand the
original consurxgption__is:

S F 7w § 20% &fg 7 5 #af
it e F e T ), d wd
F a1 '|ad § HH a9 AfaF @ F+

FIAM Fd FL?
(@) 1:3 (b) 1:4
€ 1:6 (d)1:5

If the price of a commodity is
decreased by 20% and its con-
sumption is increased by 20%,
what will be the increase or de-
crease in the expenditure on
the commodity ?

274 |
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98.

UF 9 F Fd 20% F9 8 S & a9
W m 20% 9% S g, d 9% W
= o o ufawm =t %0 = 3fs &ni?
(a) 4%
(b) 4%
(c) 8%
(d) 8%
If the duty on an article is
reduced by 40% of its present
rate by how much per cent
must its consumption increase
in order that the revenue
remains unaltered?

frdt a5g W Yo IUF TA9E geg F
40% %9 2 & 7 8, @ st =
5 JeEm w7

(a) 60%

Iincrease
decrease
decrease

increase

1 L)
(b) 625%

2 o,
(c) 72% (d) 6%

The price of an article is re—
duced by 25% but the daily sale
of the article is increased by
30%. The net effect on the daily
sale receipts is: .\ o

faret oeq *1 Fiud 25% =2 WA ¥
afe wfafe e fot 30% et 21
e = sftar o w0 sio @m 2
(a) 25% icrease

(b) 2;—"% decrease

{C]Q% increase

/99¢

100.

(d) 2% decrease

The price of sugar is reduced
by 20%. Now a person can buy
500g more sugar for ' 36. The
original price of the sugar per
kilogram was:

=t #1 Fiwa § 20% F1 FH 2 = 2,
i uw =afad e 36 F § 500 e =i
i wrig awar 8, @ 9fa fem. ==

F1 ARFIF wHa w47
(a) * 14.40 (b) * 18
(c) * 15.60 (d) * 16.50

The price of an article was first
increased by 10% and then
again by 20%. If the last in-
creased price was " 33, the origi-
nal price was:

TF g & §ed W el 10% F e v
: 20% F1 g 1 S € A o
33 %, A T AR ged T

101.

102.

(a) * 30 (b) * 27.50

() * 26.50 (d) * 25

A reduction of 20% in the price
of wheat enables Bhuvnesh to
buy 5 kg more wheat for * 320.
The original rate (in rupees per
kg ) of wheat was:

T % 4o d 20% HH % FRO gFA9
320 ¥94 H 5 fhwm. W wifaw wdlg
&1 2, A 16 #1 AT e (vfd
M) o ?

(a) 16 (b) 18 [g) 20 (d)21
The cost of an article was Rs.
75. The cost was first in-
creased by 20% and later on it
was tédiiced by 20%. The
preésﬁt cost of the article is
T S I 75 ® @ 81w

O WET 20% Fer T, 4% A 20% FH
- 7 T T, S A g w2

103.

104.

105.
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(a) * 72

(b) * 60

(c) 75 (d) * 90

The price of a commodity rises
from * 6 per kg to* 7.50 per kg. If
the expenditure cannot increase,
the percentage of reduction in con-
sumption 1s:

T 9% F1 qed 6 T ufd fFm. | 98
7.50 % wfd femm. & < 81 & 38 a5
% T ¥ a9 #it el #i WY
f 39 @ T =ren = yEen W@

(a) 15% (b) 20%

(c) 25% (d) 30%

The price of a commodity has
increased by 60%. By what
percent must a consumer
reduce the consumption of the
commodity so as not to
increase the expenditure ?

T 9% F qed 60% ¢ S E, @ T
Uew FI @ud § fhe ufderd i werd
wE gt A w7 "8 ?

(a) 37% (b) 37.5%

(c) 40.5% (d) 60%

When the price of sugar de-
creased by 10%, a man could
buy 1 kg more for * 270. Then
the original price of sugar per
kg 1s:

=t F g § 10% # FH OEH &
HO, T Afgg 270 % § 1 fwam =i+
Af =G Gl € df wfd fe o =
F1 AAREF T TG HL 2

(a) * 25 (b) * 30

(c) * 27 (d) * 32
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109.

110.
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A reduction of 10% in the price
of an apple enable a man to buy
10 apples more for * 54. The
reduced price of apples per
dozen 1s

U9 F FHHa § 10% S HH H FRO
TF = 54 ¥ 10 "a afuw wiE
Ghal €, dl HH & = 9l gsH d9 Hi

| " w2

(a) * 6.48 (b) * 12.96

(c) * 10.80 (d) * 14.40

If the height of a cylinder 1s 1n-

creased by 15% and the radius
of its base is decreased by 10%
then the percentage change in
its curved surface area is :

afE se[ ® FAE 1 15% S2ET S
2 a0 TEE R W B & 10%
TR STl €, ° e # Y amwe |
foam vfaere @1 uftads & ?

() 2.5% increased

(b) 3.5% increased

(c) 2.5%
d) 3.5%
Price of milk has increased by
20%. To keep the expenditure

unchanged, the present con-
sumption is to be reduced by :

34 1 A 20% 9g T, A 39 F @I
T ffad wfava 1 w1 1 S fF gy
™ T HE ©?
(a) 20%

decreased

decreased

(b) 18%
o 2,
(c) 10% (d) 165 %

The difference between the
value of the number increased

by 20% and the value of the /

111

112

113

114

A reduction of 21% in the price
of an item enables a person to
buy 3 kg more for * 100. The re-
duced price of item per kg 1s:

T T F1 HFd W 21% FHH G, TF
amert 100 ® 3 feel am arfus Ei
qehdl 21 9% F1 Wfa fohel I wer ga

Toq F 87
(@) * 5.50 (b) * 7.50
(c) * 10.50 (d) * 7.00

In a factory, the production of
cycles rose to 48,400 from
40,000 in 2 years. The rate of

growth per annum is?

TF B H 299 § 9RfEa w1 sand
40,000 ¥ =7+t 48,400 & ™m
Tt gfs 5 A H

(a) 10.5% (b) 9%
(c) 8% (d) 10%
TYPED

In an examination, there were
1000 boys and 800 girls. If 60%
of the boys and 50% of Lheglrls
passed. Find the percefitage of
the failed candidates ?.

w e 4 1000 w2d7aem800 @l
i B #1 AR 60%wreH 7 50%
et S B A ST s
Eleiieal ori G F

@) 46.4%../  (b) 48.4%

(c) 44.4% (d) 49.6%

I an examination a candidate

p must secure 40% marks to
“pass. A candidate, who gets 220

number decreased by 25% BT N

36. Find the number. y
TF GEm H 20% IfE ¥ wa qﬁ:UTm
aww’ﬁmﬂ%%ﬁmam
ofomm w1 i 36 71 gEA N w12
(@) 7.2 (b) 0.8 () 7_20{(1] 80

A number is first decreased by
20%. The decreased number is
then increased by 20%. The re-
sulting number is less than the
original number by 20. Then the
original number 1is

T W el 20% F9 HE A § i
firt =11 1 TE W@ F1 20% =9 T =
& 70 T W FE S He | 20
(a) 200 (b) 400

(c) 500 (d) 600

115.

. marks, fails by 20 marks. Find

the maximum marks for the ex-
amination ?

T e ¥ 3 g9 &% o 40% 3%
sAfard @1 e et = 220 s g
B ® 3R 9% 20 I § ITEEHe B S
&, ol W sifuFan o feat 92
(a) 1200 (b) 300

(c) 600 (d) 450

In a class 60% of the students
pass in Hindi and 45% pass in
Sanskrit. If 25% of them pass
in both subjects, what percent-
age of the students fail in both
the subjects ?

T Fel H 60% B e d "ea qar
45% o e § @@ B0 ¢ 9 ST
¥ 25% 9 A fawdl § wEe B €, @
2T fawi # forem oo 2@ 1w gu7

116.

117

(a) 80% (b) 75%

(c) 20% d) 25%

The ratio of the number of boys
and girls in a college 1s 3 : 2. If
20% of boys and 25% of girls are
adults, the percentage of those
students who are not adults is:

T et | oigsh adl TSl F Hea #
I 3 : 2% 4% 20% e ad 25%
referdl oo &, 4l fnd v o a9
¥ &7

(a) 58% (b) 67.5%

(c) 78% (d) 82.5%
The ratio’ef the number of boys
to thayo6fgirls in a school is 4
: 1. M. 75% of boys and 70% of
the. +girls are scholarship-

s~holders, then the percentage of

 sfudents who do not
‘scholarship is:

118.

119.
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get

e fomem § we# 9u @il w1 ATIa
4:1 ¥ A 75% TF a9 70% e
o e €, 3 8 oE = om0
2, f= omefa 1 faedt?

(a) S0% (b) 28%

(c) 75% (d) 26%

A candidate who gets 20%
marks in an examination fails
by 30 marks but another can-
didate who gets 32% gets 42
marks more than the pass
marks. Then the percentage
of pass marks 1is:

et wfaqamit =1 UF 9ien § 20% A5
I B § SR 9F 30 SfF | oTHE B
& eifr gEt ufeail w - 32% 3w
o B § 3R 39 IdviE @ 42

e W 29 & @ Il 3 w1 wfave
1 8?2

(a) 52% (b) 50%

(c) 33% (d) 25%

In an examination there were
640 boys and 360 girls, 60% of
boys and 80% of girls were suc-
cessful. The percentage of fail-
ure was :

w#F glen ¥ 640 wes qu 360 wefFal
ynfel 2t 1 s 60% wigs 741 80%

yfava 9 F
(a) 20% (b) 60%
(c) 30.5% (d) 32.8%
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120.

191,

In an examination, 34% failed
in Mathematics and 42% failed
in English. If 20% failed in both
the subjects, the percentage of
students who passed in both
subjects was:

TF e o, 34% wiaani wfo | den
42% gt s¥ist § srwe @ €1 At
20% gt 5 fomat & saee g
al fored ufger wfaart <=7 fowai o
qHe T &7

(a) 54% (b) 50%

() 44% (d) 56%

Two students appeared at an
examination. One of them
secured 9 marks more than the
other and his marks were 56%
of the sum of their marks. The
marks obtained by them are :
3 faeneft ww wften § wnfre B9 ¥
B H g ¥ 9 3% sfuw fiew € 3R
IGF HF A B FH P AT H 56% B,
Al ST WaiE T2
(a) 42,33

(c) 41,32

(b) 43,34
(d) 39,30

122.In an examination, 52% students

123.

124.

failed in Hind1 and 42% in English.
If 17% failed in both the subjects,
what percentage of students
passed in both the subjects ?

TF e | 52% v &l # wn 42%
B IS W e 7 WM 21 A 17%
B 34 fawel § smwa g1 € 9 e
yfeera B 341 fawal § 9% gu?
(a) 38% (b) 33%

(c) 23% (d) 18%

125.

126,

127.

w# faEem § 40% BE Feaie ad
50% B fode Bed & 4k 18% 3
1 Bl 7El Werd €, 9 fra ol B
<Hl B Bred €2

(a) 40% (b) 32%

() 22% (d) 8%

In a class, the number of girls is
20% more than that of the boys.
The strength of the class 1s 66.
If 4 more girls are admitted to
the class, the ratio of the num-
ber of boys to that of the girls is:
TF wen o oefEa F wen, gew ¥
20% fs ®1 wen § wEl F oFW
e 66 B AR Fa H 4 wefFEal @R
#H SN, A oigsh aul wefRdl @l Hen
1 U 1 B2

ja) 1:2 (b)3:4

c) 1:4 (d)3:5

In two successive years 100 »-
and 75 students of a school ap- »

peared at the final examina-
tion. Respectively 75% and 60%
of them passed. The average
rate of pass is:
Wﬁmmﬁzmqm 1003241
75 o= TF e § vitehBR 71 3
F FH: 75% 701 60% B TEeA T
2, A TEAd NG W W B2

(@) 685%.% ) (b) 78%

() st")"E v/ (d) 80%

In' an examination, 65% of the

¢ -students passed in Mathemat-
1c8, 48% passed in Physics and
) 30% passed in both. How much

In a group of students, 70% can"'_.__ }"

speak English and 65% can

speak Hindi. If 27% of’ ‘the
students can speak none! ‘of the
the two languages, then what
percent of the group’can speak
both the languages 2. -

BE % T TE HF0% B s AR
65% 1 fedt e v €1 AR 27% B
¥ oft g = e v E @
Tt e =T ST e S T 87
(a) 38% (b) 62%

(c) 28% (d) 23%

In a school 40% of the students
play football and 50% play
cricket. If 18% of the students
neither play football nor
cricket, the percentage of the
students playing both 1s :

276 |
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128.

per cent of students failed in
both the subjects ?

TF TET H 65% BE TR H, 48%
B Gfast | au 30% BF T fawE
F woe g 8, df fFad ufawd s <A
fowai ® e w7

(a) 17% (b) 43%

() 13% (d) 47%

72% of the students of a certain
class took Biology and 44% took
Mathematics. If each student
took at least one subject from
Biology or Mathematics and 40
took both then the total number
of students in the class is :

T Fal § 72% BF Ssia-fagm a2 44%
I MO H T B T AR TEE I
o Siig-fagm o e 5 9 0 9 w5
o femn 21 e 40 =t 3 <H fawg o
&, @ wen § F A oE 87

129.

130.

(a) 200 (b) 240

(c) 250 (d) 320

In a test a student got 30%
marks and failed by 25 marks.
In the same test another stu-
dent got 40% marks and se-
cured 25% marks more than
the essential minimum pass
marks. The maximum pass
marks for the test were?

wF uiem § uF B w1 30% AF
U B B SR g% 25 HFl ¥ amwe
g S g SE when § g oI F
40% % <t B1d § SR IW IAE
q 25% 3iF wfus firel & & whan
sifersan Zdoi® siw w1 42

(a) 400~ (b) 480

(c)00 (d) S80

In avillage, each of the 60% of

~ families has a cow; each of the
80% of families has a buffalo

131.

132.
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and each of the 15% of families
has both a cow and a buffalo. In
all there are 96 families in the
village. How many families do
not have a cow or a buffalo?
uF T §, 60% UfEni & 9w T T
2, 30% ufad & TH TE 9 T a
15% @R & o - 26 8 A
%ol ufER 1 HEenm 96 ¥, i fhad
fiEari % 9w | T @ oY w87
(a) 20 (b)24 (o) 26 (d) 28
A student scored 32% marks in
science subjects out of 300.
How much should he score in
language papers out of 200 if he
is to get overall 46% marks?
TF B F faaE § 300 § | 329% F
a2 S, @ s & fawE § 200 F
¥ fFam ofF 9 e g A SEE
el wfder 46% &1 Sie?

(a) 72% (b) 67%

(c) 66% (d) 60%

90% of the students in school
passed in English, 85% passed
in Mathematics and 150
students passed in both the
subjects. If no student failed in
both the subjects, find the total
number of students.

foamem o 90% B o= o, 85% B
T § wwe B 81 150 BE gl
fawl 4 gee @9 21 A wE R wE
g W fawE § eee e e €, ar
IE A W@ PR

(a) 120 (b) 220

(c) 200 (d) 300
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In a college, 40% of the stu-
dents were allotted group A, 75%
of the remaining were given
group B and the remaining 12
students were given group C .

Then the number of students who
applied for the group is:

UF hics H40% DMl & @ A H @
T, W BE F 75% TE F 9E B
H @ T AR 9 12 9E #1 9E C
o T T, @ we fwad ol 4 e #

ferd amaRa e ey
(a) 100 (b) 60 (c) 80 (d) 92
The ratio of the number of boys

to that of girls in a wvillage 1s 3 :
2.1If 30% of bays and 70% of girls
appeared in an examination,
the ratio of the number of stu-
dents, appeared in the exami-
nation to that not appeared in
the same examination is

TF T | Ag% 90 @efRal i I 3
: 2 %1 Af% 30% == 9 70% wrefFHA

@Mﬁﬂﬁﬂ“ﬁﬁm%ﬂmﬁm@f

T % Al 9 9ien qE S 9ol T &

I 1 S T O 7

(@) 1:1 (b) 27 : 23
(€)0: 14 (d) 23 : 27

In an examination there are

three subjects of 100 marks
each. A student scores 60% in
the first subject and 80% in the
second subject. He scored 70%
in aggregate His per‘centage of
marks in the third subject is

% Th9 § 79 faw € o s W ety

oM 3% 100 B TF BH WA faw # 4
60% wn TR v § 80% ¥F W .
A B3 HA ?O%aﬂ:m%ﬁ%,?i‘l'

(a) 80 (b) 60, :

(c) 65 (d) 70

A person gave 20% __of his in-
come to his eldef son;30% of the
remaining to the younger son
and 10% of the balance, he
donted to a trust. He 1s left wath*
10080. His income was;

TF I 200 S w1 20% 92 4,
99 39 1 30% B 4 H 1 8 3R
v Tf¥ F1 10% T 22 Al 39 § =T
#1 3¥s W 2@ ‘10080 v§ ¥,
ITFT A PN E?
(a) * 50000

(c) * 30000

(b)
(d)

* 40000
* 20000

137.

138.

139.

Ram spends 40% of his salary
on food, 20% on house rent, 10%
on entertainment and 10% on
conveyance. If his savings at the
end of a month are * 1500, then
his salary per month (in ') is
TH 9 A F 40% HeE W, 20%
W F R W, 10% T W 3R
10% e W ' F@ ¥ AR wee
% 37 § 35 9=d 1500 €, d 3G
A e fra & 2

(a) * 8000 (b) * 7500

() * 6000 (d) * 10000

Out of 2500 people, Only 60%
have the saving habit. If 30%
save with bank, 32% with post of-
fice and the rest with shares, the
number of shareholders are :

2500 =M H ¥ & 60% @M &=

FQ &1 A% 30% @Rt ¥ H, 32% T ..
T AW a9 99 0 T H a=d F o

&, df S-umR # Hewm wm R L
(a) 450 (b) 570

(c) 950 (d) 1250 %

A man had a certa_i_n"‘:é"r;_:(c';unt
with him. He spent 20% of that
to buy an article and;5% of the
remaining on transport. Then
he gifted * 120" If he is left with
* 1,400, the amount he spent
on transport.as:

& S E TN 5 oH ¥ 9E 5
F120% T =5 Bited W B @ €,
319 4T 1 5% FEE W B Hl a4

<A 120 SUer | % fau, At s

140.

1400 ¥ &% #, 9 S T9EE T

' fpad T B R
(@) * 76 (b) * 61
() * 95 (d) * 80

In a big garden 60% of the trees
are coconut trees. 25% of the
number of coconut trees are
mango trees and 20% of the
number of mango trees are
apple trees. If the number of
apple trees in the garden is
1440 then find the total num-
ber of trees in the garden:

= 92 i ¥ 60% Tg A &
TfEa & Ui F e # 25% Ug W
% ¥ & o am % U % wem $20%
ig O & 9g €1 9k 99 & T &1 Hed
1440 2, @ @f= 4 F= foad 92 22
(a) 48000 (b) 50000

(c) 51000 (d) 45000

141.

142

143.

144.

Copyright © All Rights Reserved | https://spardha.guru/

Out of his total income, Mr.
Kapur spends 20% on house
rent and 70% of the rest on
house- hold expenses. If he
saves ' 1,800 what is his total
income (in rupees) ?

1. FqT 57 et A F 20% T & fFHIC
SR I S w1 70% ] w@H W Ed
w0 € A AR wwa 1800 ¥ E, A

FAR I TG H
(a) * 7,800 (b) * 7,000
(c) * 8,000 (d) * 7,500

.A man gives 50% of his money

to his son and 30% to his
daughter:80% of the rest is do-
nated to/atrust. If he is left with
16,000 now, how much money
chd he, have in the beginning?

_mmfaam%ﬂaSO% I S T

Y Ry 30% s s T F oA
fsT =m1 80% w1 ford 22 =i & e <mwr

%1 @@ 4% 39 = % 9 16,000 99
2, df 3o W U | o e afy «r?

(a) * 4,00,000 (b) * 40,000
(c) * 90,000  (d) * 80,000
TYPEE

8% of the voters 1in an election
did not cast their votes. In this
election, there were only two
candidates. The winner by
obtaining 48% of the total votes,
defeated his contestant by 1100
votes. The total number of voters
in the election was:

TF 99 H 8% Wodmel 4 WA TEl
el 39 gd § Fae 2 SHiEan ¥l
fastar =it @ Sk F 48% Wl g Tew
ST 1100 wdi @ faog 9 =t o
TAE H Fel e waaa o9

(a) 21000 (b) 23500

(c) 22000 (d) 27500

In an election between two
candidates, 75% of the voters
cast their votes, out of which
2% votes were declared invalid.
A candidate got 9261 votes
which were 75% of the valid
votes. The total number of vot-
ers enrolled in that election was:
TF IAE H 3 SERER €1 75% Hasiaisi
3 A2 TE, s § 2% e @y =i
1 fad T, uF IEiTAR w9261 @R
el St 99 @i 1 75% %, A A o
%ol T e €7
(a) 16000

(c) 16800

(b) 16400
(d) 18000
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145.

146.

147.

148.

In an election between two
candidates, the candidate
getting 60% of the votes polled,
is elected by a majority of
14,000 votes. The number of
votes obtained by the winning
candidates is

UF 9E § 4 SefEan ¥ fo sufean
F FA Ta=H F160% 3 fiam 2, =%
14000 =2 & ¥&nd ¥ id =@ €,
g ATl SEiEaR 1 fhad aie ur g
(a) 28,000 (b) 32,000

(c) 42,000 (d) 46,000

A man spends 40% of his
monthly salary on food and
one-third of the remainming on
transport. If he saves ' 4,500
per month which is equal to
half the balance after spending
on food and transport, his
monthly salary is :

T AR 9 WiEE @m w1 40%
A9 9, 919 90 F1 CH-faer amEn
T E ¥ Al =E 4500 Hiew
TS, S A a0 I W el #
e T F SET T, 9 SHE WigE
A T FL 7

(@) * 11,250  (b) * 22,500

(c) * 25,000 (d) * 45,000

In an assembly election, a
candidate got 55% of the total
valid votes. 2% of the total votes
were declared invalid. If the
total number of voters is
104000, then the number of

valid votes polled in favour of the
candidate is :

149.

150.

151.

(a) 8040 (b) 8640

(c) 9360 (d) 9640

Two persons contested an
election of Parliament. The
winning candidate secured
57% of the total votes polled and
won by a majority of 42,000
votes. The number of total
votes polled is:
Tada 999 § 3 IufEEad 7 9EE
1| S ATt IEfiEEn i FHa e H
57% St 9 gU 3 a8 42000 sl
| <ia wan, @ 9§ R e e
E i

(a) 5,00,000 (b) 6,00,000
(c) 3,00,000 (d) 4,00,000
TYPEF

A district has 64000 inhabitants.

If the population increases at

1
the rate of 2—

number of inhabitants at the end
of 3 years will be:

% foet § 64000 famt #1 zrﬁ m

s T 2, %mﬁm?’; a‘tssmia&m

% foer # fmad ﬁfmﬁ 3ﬁ7

(a) 70000 - £ {b) 69200

(c) 68921~ 1" (d) 68911

The /._V_a;_lué of a property
depreciates every year by 10%
of Ats: value at the beginning of

the-year. The present value of
“.the property is

" 8100. What

_ was its value 2 years ago ?

r@ﬁsmwwﬁ@m,ﬁ;- ’

&4 FRl F1 55% dte e wma aE B

2% =R a7y Hiftd # &A1 4fy
HaRaE i we H@en 104000°%,
o S die Sefeear # e,

(a) 56506 (b) 56650

(c) 56560 ‘(d)56056

In an election, there are three
candidates contested. The first
candidates got 40% votes and
the second got 36% votes. If total
number of votes polled were
36000, find the number of votes
got by the 3" candidate.

UF gAE | 9 IR ¥ 9ee SEfREr
w 40% @ faer qo1 TR IHIEER w0
36% dr fasll aft |a 36000 =R fire,
dl i) SPHigaR & fFad 9 ara gue?

278 |

info@spardha.guru

152.

TH HafH F qed TOE T9 10% F9 7
Sl 81 A gafe 1 99E 9ed 8100
%, @2 3 ugel Hufd & 9ed 1 4917

a) "10,000  (b) [@J x100
2
) -[%} x8100 (d) * 9801

The population of a town 2
years ago was 62,500. Due to
migration to big cities, it de-
creases every year at the rate
of 4%. The present population
of the town is :

2 9 UEe UF YR F FAEHEA 62,500
dt 72 U F SR TFWO & FO
wfdad s 4% #1 W 9 g ®, @
VET F FaHE SEen e 2

%per annmum, the

153.

154.

(a) 57,600 (b) 56,700

(c) 76,000 (d) 75,000

A man received * 8,80,000 as his
annual salary of the year 2007
which was 10% more than his
annual salary in 2006.His an-
nual salary in the year 2006 was:
uF Afed &1 2007 § afids g9
'8,80,000 @, it 2006 ¥ 39 aift®
a9 W 10% eifass em, @t 2006
IGHT FAT F 417

(a) * 4,80,000 (b)* 8,00,000
(c) * 4,00,000 (d) " 8,40,000
The value of an equipment de-
preciate’f_s-:_' by 20% each year.
How)much less will the value
of'the: equipment be after 3
years ?

"_'ﬁsﬁaﬂwmq\wuﬁmm%
R @ 3 F AR W AR B P

155.

156.

157.
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oo w9 g 7
(a) 48.8% (b) 51.2%
(c) 54% (d) 60%

Present population of a village
is 67600, It has been increas-
ing annually at the rate of 4%.
What was the population of the
village two years ago ?

wE Al ) A SEEEA 67600 ¥ iR
T 4% Ft 51 | ufaad @ A S
i Wed TE F G A

(a) 62500 (b) 63000

(c) 64756 (d) 65200

If the population of a town is
64000 and its annual increase
is 10%, then its population at
the end of 3 years will be :

Afz U YT F TGS 64,000 T i
72 10% yfqed 7gdl &, 1390 & =
ITET F SAEE F B

(a) 80000 (b) 85184

(c) 85000 (d) 85100

A clerk received an annual

salary of * 3,660 in the year 1975.
This was 20% more than his
salary in 1974. What was his

salary in 1974 ?

1975 § U wHeld 1 iftis 509 3,660
T o1 A€ S99 1974 = SifF S99 W
20% sifas o1, df 1974 W IEH Fad
fmam a?
(a) * 3,005
(c) * 3,500

(b)
(d)

* 3,000
* 3,050

www.spardha.guru



158.

159.

160.

161.

162.
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The value of a machine is °
6,250. It decreases by 10% dur-
ing the first year, 20% during
the second year and 30% dur-
ing the third year. What will be
the value of the machine after
3 years ?

wF " qed 6250 ¥ wee ad #
TFE ged 10% gt a9 | 20% a6
e o 7 30% e €, @t 3 F aw
e 1 qed F Em ?

(@) 2,650  (b) " 3,050

() * 3,150 (d) * 3,510
Raman’s salary is increased by
5% this year. If his present sal-
ary is ' 1,806, the last year’s
salary was

T g T % 9 H 5% F Fead gel
Af SHFT adHA a9 © 1,806 %,
fooet =d sae 3 feam o 2

(a) * 1720 (b) * 1620

(c) * 1520 (d) * 1801

The strength of a school in-
creases and decreases in every
alternate year by 10%. It started
with increase in 2000, then the
strength of the school in 2003 as
compared to that in 2000 was:

o famem § v 99 10% B 9% 9
T g ad 10% 9 2 9 ¢ N 9
FH =@ ®d €, 7% a4 2000 § B
%I gem ¥ gfg & @, a 2003 # E
I He 2000 # geren 7 gy o Fw
F1 wiawd #1 w@I ?

(a) increased by 8.9%

(b) decreased by 8.9%

(c) increased by 9.8%

(d) decreased by 9.8% p
The pouplation of a ,;téwn
increases each year by ‘4% of
its total at the beginnihg of the
vear. If the population on 1=
january 2001 was 500000, what
was it on 1% Jadiuary, 2004?
T I Fi SHE 99 & ARA Hf Ha
e | wirad 4% wdt 21 1 s
2001 %1 sHE=m 50,0000 of, a1 1
SHadt 2004 F1 SAGEA F1 B2

(a) 562432 (b) 652432
(c) 465223  (d) 564232
The income of a company in-
creases 20% per annum. If its
income 1s ' 26,64,000 in the
yvear 2012. Then its income in

the year 2010 was:

163.

164.

165.

TF T H 3 20% W o wg w6
IR T 3@ T 2012 * 26,64,000
A = = 2010 T fRaAr ot
(a) * 21,20,000 (b) * 18,50,000
(c) * 28,20,000 (d) * 28,55,000
TYPEG
In an alloy, there 1s 12% of
copper, to get 69 kg of copper,
how much alloy will be required?
uw fagug 0 12% dfa g, @ 69 fs.
M. da T F T fEad fageg 6
wE B

(a) 424 kg (b) 575 kg

(c) 828 kg (b) 17362 kg

40 litres of a mixture of milk
and water contains 10% of wa-

ter, the water to be added, to

make the water content 20% in .

the new mixture 1s :

T8 T IH F TF 40 e & fagon S

10% It &1 58 Fagor § fehen oSt
freman s i T fasm o ﬂFﬁﬁ“ElﬁT

#

20% & ST ? -
(a) 6 litres (b)¢6.5 htres
(c) 5.5 litres  (d)’5 litres

A sample of 50 litres’ of glycerine
is found to be adnlterated to the
extent of 20%. How much pure
glycerine/should be added to it
so as»to bring down the
percentage of impurity to 5% ?

50 S0 frferad # Tk Hwe § 20%

: oy faern = T facmse &1 w9 5%

166.

167.

® w7
(a) 155 litres (b) 150 litres
(c) 150.4 litres (d) 140 litres

Fresh fruit contains 68% water
and dry fruit contains 20% wa-
ter. How much dry fruit can be
obtained from 100 kgs of fresh
fruits ?

st Bl H 68% Wt § den §E W
# 20% 9rt €, @ 100 fEm. st
N gFd 87

(a) 32 kgs (b) 40 kgs

(c) 52 kgs (d) 80 kgs

1 litre of water 1s added to 5
litres of alcohol-water solution
containing 40% alcohol strength.
The strength of alcohol in the new
soultion wall be:

168.

169..

~of 30% alcohol strength be

170.

g 7 18
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5 #. & aedlea-gH fasgm § 40%
sTehied &1 T9H 1 off. Tt femn Smar
& @ T fagor § sewred =1 wiaee
N Bm?

(a) 30% (b) 33%
2 1
() 335/0 (d) 33—3-%

200 litres of a mixture contains
15% water and the rest is milk.
The amount of milk that must
be added so that the resulting
mixture contains 87.5% milk is:
200 =ft. & T faso & 15% 9 qen
3 34 1 39 fasm F feaw g9 faemn
i, fop A4 fasm o 87.5% 34 @ 2
(a) _30-litres (b) 35 litres

(c). 40 litres (d) 45 litres

In“what ratio must a mixture

mixed with that of 50% alcohol
strength so as to get a mixture
of 45% alcohol strength ?

30% srespisat =Tel T fAemn %1, 50%
oied 99 TF fogm F fFm eHue
¥ fgemrn s s g fago § 45%
FHewea 817

(@1:2 b)1:3

(©2:1 (d)3:1

75 gm of sugar solution has
30% sugar in it. Then the
quantity of sugar that should be
added to the solution to make
the quantity of the sugar 70%
in the solution is :

75 1M & = B A § 30% = 2
= ® e = = s v
=i § 70% = 8 2

(a) 125gm (b) 100 gm

() 120 gm  (d) 130 gm

One type of liquid contains 20%
water and the second type of lig-
uid contains 35% of water. A
glass is filled with 10 part of first
hquid and 4 parts of second lig-
wd. The water in the new mix-
ture in the glass is:

ee fagor § 20% 9t # Ao g fago
¥ 35% U 81 U Terw § 10 W0 gEeln
fagor & o 4 W gEQ fagw ¥, @
T & 99 faso § fadan ufavm o 7
(a) 37% (b) 46%

1 2,
(0) 12= % (d) 24=%

| 279

www.spardha.guru



172.

15 litres of a mixture contains
alcohol and water in the ratio
1: 4, If 3 litres of Water 1s mixed
in it, the percentage of alochol
in the new mixture will be:

15 et = fagor & stenteat qen 9t =6
AU 1:4 71 AR 3 wex o ey fyen
femr s @t 72 fagor F eewed w1
afeeTd F1

(a) 15% (b) 162%
() 17% (d) 18?12%

173.The percentage of metals in a

mine of lead ore 1s 60%. Now

the percentage of silver is 7 %

of metals and the rest i1s lead.
If the mass of ore extracted from
this mine 1s 8000 kg, the mass
(in kg.) of lead is:

sitem 37 # uF @A 4 60% 9 T

5 3 N .

=it 1 wfwd o # 7 % ¢ i e
yiten 21 afz =" @ 8000 k.. ek
TrarTen ST &, 1 35 feRe . witen
BIm?

(a) 4763
(c) 4762

(b) 4764
(d) 4761

174.300 grams of sugar solution has

3 EF e

40% of sugar in it. How much
sugar should be added to make
it 50% 1in the solution?

300 W S F w F 40% < 21

176.

177.

178.

1) 20%

179.The expenses on rice, fish and

ford a8 59 s #1 50% 8 i
() 10 gms/7 (b) 60 gmsy/I™

(c) 40 gms/ 7 (d) 80 guis/mMw

In 2 kg mixture,of copper and
aluminium, 30% is:copper. How
much aluminium powder
should be added to the mixture

so that the quantity of copper be-
comes 20%?

@ iR ugfEe & 2 R fago d
30% i &1 39 g § oo wefifes
==l 3N T s =y, e o
SR 20% B W0

(a) 900 gms  (b) 800 gms

(c) 1000 gms (d) 1200 gms
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- [c) 30%

TYPEH

Due to an increase of 50% in the
price of eggs, 4 eggs less are
available for * 24. The present
rate of eggs per dozen is :

#HE = wma  50% sfg F w0 24
T 4 372 70 firerd £, @t ufd 254 =2 =1

FEH qed 2 ?
(a) * 24 (b) * 27
() * 36 (d) * 42

If a man receives on one-fourth
of his capital 3% interest, on
two third 5% and on the re-
maining 11%, the percentage
interest he receives on the
whole is:

l‘3:|T"I?*.'FI‘:ITSL}‘E:

@mﬁaaﬁmﬁr4

2 5
M6, =7 9 9 5% =16 J91 99 EFI

T 11% o e &, o g

(&) 4.5% (b) 5% (c) 5.5% (8).5.2%
A reduction in the price of
apples enables a person to pur-
chase 3 apples fop” 1instead of
* 1.25. What is the 2 of reduc-
tion in price 2

1.25% 38 %1 9 ' 1 ¥ 3 99 @ig
H A ?

' (b) 25%

1,
(d) 333%

TYPEI

oil of a family are in the ratio
12 : 17 : 3. The price of these
articles are increased by 20%,
30% and 50% respectively. The
total expenses of family on
these articles are increased by:
T AR ¥ e, 999 a9 o 9 EE
FoFAUE 12 : 17 : 321 a1 B
Ted %A 20%, 30% 91 50% 98
T, G 39 SEgS T EH aTel wE o
wfavrd 1 gfg & sri?

1, 1,
a) 14§,6 (b) 75,6

[c) 28%% (d)None of these

180.

181.

The bus fare and train fare of a
place from Kolkata were * 20 and
* 30 respectively. Train fare has
been mcreased by 20% and the
bus fare has been increased by
10%. The ratio of new train fare
to new bus fare 1s:

Fier 9§ fRdt i % fow 99 feam
agn oA fREn F99:20 qu9r30 ¥
o §20% =t 9o =9 fm # 10%
#1 gf B S B, @ 3 frvd qan
a5 fHrd # 3EIE 79 w2

(@) 11: 18 (b) 18 : 11
€)5:3 h (d) 3:5

Ram’s &xpenditure and savings
are 4n the ratio 5 : 3. If his
incomé increases by 12% and

s-expenditure by 15%, then by

_how much percent does his

182.

183.
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‘savings increase ?

T F T 9 g9 F I 5 : 3
A% SHFT 3 12% 92 =t §, 3R '
15% 5% ST € o SEH s=a R
ufawma a2 ?

(a) 12% (b) 7%

() 8% d) 13%

A man spends 75% of his income.
His income increased by 20% and
he increased his expenditure by

15%. His savings will then be
increased by:

T =At[ 9 A" 1 75% T HE
2 3UH 3T 20% &1 3 AT & 3R '
o =l § 15% F gfs F1 3@ &, @
vo% W 1 fad v # afs w?

(a) 33% (b) 335%

(c) 35% (d) 40%
MISCELLANEOUS

A student multiplied a number

3 b
by Einstead of E.What is the

percentage error in the calcu-
lation ?

5 a3
UEFMQEEE@'IEFIE

A T T, A S oA § e v
= o <
(a) 44%
() 54%

g5 3
mmsﬂ

(b) 34%
(d) 64%
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185.

186.

187.

188.
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In a town, the population was
8000. In one year, male population
increased by 10% and female
population increased by 8% but
the total population increased by
9%. The number of males in the
town was :

TF I7 &l SEEa 8000 o wF g9
o Tl = HEn 10% aon ofeene =
e 8% 9% Sl © Wi &l SEE
9% et ¥, dt yeT § gEul -t weA
ot 7

(a) 4000 (b) 4500

() 5000 (d) 6000

The sum of the numbers of boys
and girls in a school 1s 150. If
the number of boys 1s x, the
number of girls becomes x% of
the total number of students.
The number of boys 1s :

= fomera # we% g wiEfedl = 4
150 %1 =fe =gt & dem x T, d
wefFal i G dgh ad AR Hi
el HEAl & X Y% &l Wil €, dl g hl
TE Jd w?

(@) 90 (b)75 () 25 (d) 60

If the sales tax on a television set

g 1
increases from 7% to 8%, what

more amount will have to be paid
for the television whose price
(exculding sales taxes ) is * 19000?

afe T fefasm e W T w75 %

¥ Tt 8% F &1 s €, @ 19000

% % e (Fal T fed) @ fay

faat afafaa ofe & =0t 2
(a) * 190 (b) *
(c) * 180 (d) * 90

A fruit seller had so;;_lé-é}})'ples.
He sells 40% apples and still has
420 apples. Ongma]ly, he had :
G fama BT 49 € a9
40% Ta a9 T@ & fe oft sE T
420 ¥4 =9 gL F, T IEH TE FA
formt &9 9 2

(a) 588 apples (b) 600 apples
(c) 672 apples (d) 700 apples
If the monthly salary of a fan

- 2
employee is increased by 23% ,

he gets 72 rupees more. His

monthly salary (in rupees) is:

95 : / o

189.

190.

o T TE # wER w A 22%

w1 fon s € s 72 Y afuw
W BN B, @ IE WiEs aa fEa

=E 2
[a) * 7200 (b) * 3600
(c) * 2700 (d) * 2000

If the total monthly income of

16 persons is * 80,800 and the
income of one of them is 120%
of the average income, then
his income 1is:

TR 16 AfFAl #1 w@ AfEE A
80,800 % R Y § UH FT M,
st s w1 120% %, W SEE o
farar 22

* 5,050
' 6,160

(b) * 6,060
(d) * 6,600

@)

(c)

height of the pole in one hoir
and in the next hour it covered
125% of the remaining height.

If pole’s height is ‘192 m, then
the distance climed 4in second
hour is

T e LA U # 62%%
T e & AR el 5 e
S 1 12, % @ S ¥ af dw

(A 1924 &, df g = # udt 7€

T | HifEa?
[a) 3m (b) 5m
[€) 7m (d) 9 m

191.An individual pays 30% income

192.

tax. On this tax he has to pay a
surcharge of 10%. Thus , the
net tax rate, he has to pay is

T = 30% M F JEA @l 8
™ T W 39 10% Afafmm aafuam
Tedl €, W HA F(IFW) F R HE?
la) 45% (b)40% (c) 33% (d) 27%

A batsman scored 110 runs
which included 3 boundaries
and 8 sixes. What per cent of

his total score, did he make by

running between the wickets?
T HeoErs 1 110 T = o 3
=i a1 8 Tk Wi 9, 4 6 &l
= & T ufave W digwt a?

193.

195.

196.
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(a) 45% (b) 45:>%

6
(c) 4% (d) 55%
If the numerator of a fraction
is increased by 20% and the
denominator is decreased by
5%,

the value of the new

The

. S
fraction becomes 5

original fraction is:
afy fadt fa=1 1 A9 20% w=1 fear
SiE, 641 €4.5% = faan s i fa=

E Tﬂiﬂ?ﬁ%  arAtaE fa= T 87

4

[él fg b) = (o) 70 (d) o2

. . 1
A avide dirabed 62~2—% of the: 4 194 An interval of 3 hours 40

minutes is wrongly estimated
as 3 hours 45.5 minutes. The
error percentage is:

3 5240 fofe % = Haue # Tedl ¥
3 52 45.5 figre uH o= mn, & wiava

Je F 87
(a) 5.5% (b) 5.2%
(c) 5% (d) 2.5%

If the income tax is increased
by 19%, the net income is re-
duced by 1%. The rate of in-
come tax 1s:

afy st § 19% 1 gfg 2t & a
wurE A W U ufawE S FA e 2
HAPF FH T A B2

(a) 6% (b) 4%

(c) 5% (d) 7.2%

The population of a village was
9800. In a year with the in-
crease in population of males
by 8% and that of females by
5%, the population of the village
became 10458. What was the
number of males in the village
before increase ?

TF TE H STEEA 9800 ot uF =
3 ol % wem 8% qon Heesd w
TEA § 5% #I g T & @ M w
SFEE 10458 € St € ot 9ty |
g H qEEl & He wm e

(a) 4200 (b) 4410
(c) 5600 (d) 6048
|’ 281
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197.

198.

199.

200

201.

In the expression xy2?, the
values of both vanables x and y
are decreased by 20%. By this,
the value of the expression is
decreased by:
=AF 2 A, T W Ty H AR
20% ®9 #@ S ¥, § TR e
e o AF foha wiavra w49 & SEm?
(a) 40% (b) 80%

(c) 48.8% (d) 51.2%

A and B are two fixed points 5
cm apart and C is a point on AB
such that AC is 3 cm. If the
length of AC 1s increased by 6%,
the length of CB is decreased by:
Adn B fig g o g 54
. 21 ABW us fag C & a1 AC #t
orrg 3 |, 21 aft AC # A 6%
el < WYt CB &1 oian fha wfovm
E S

(&) 6% (b) 7% (c) 8% (d) 9%
A man invests a part of * 10,000
at 5% and the remainder at 6%.
The 5% investment yields
annually ' 76.50 more than the
6% 1investment. The amount
invested at 6% is:

wF = 10,000 % HF 90 FH 5%
T W 9 H 6% TN W W e
F 7 5% ® ® W FEw o
1, 6% i & W FHEw R e s 9
76.50 w93 st afda Fwa €, 9 6%
Ft g W fora wn e e man o
(a) * 3,600 (b) * 3,550

(c) * 3,850 (d) * 4,000

get the same salary and Shyam
saves * 1540, what JLS the sav-
ings of Ram ?

TH AH FAT H 14% W EToiiE
Safe vEm 9 AT, #w 22% F9d
HE &1 4G ST T TR Fad e €
3t vom 1540 % 5= Fw1 &, @
fopa @=a e 22

(a) " 990 (b) * 980

(c) * 890 (d) * 880

In an examination in which
full marks were 500. A got 25%

more than C, C got 20% less

than D. [f A got 360 marks.
What percentage of full marks
was obtained by D ?
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202

203

204.

TF e § sfuwan 3w 500 §, A H
C 9 25% s 3% 9 & & 3 C
# D ¥ 20% F9 3% WH = &1 A
A =1 360 3% yrd & € @ D #i 3y
#q 3% 1 T ufaem ww ga?
(a) 72% (b) 80%

(c) 50% (d) 60%

.In a factory 60% of the work-

ers are above 30 years and of
these 75% are males and the
rest are females. If there are
1350 male workers above 30
vears, the total number of
workers in the factory 1is:

T B9 § 60% FHEH # 39 30 79
waﬁw%aﬁ‘nsﬁﬁ%%wam
o Hfgemd €1 af% 1350 qEy wH=faE
* 39 30 =9 &% FW T, @ bl § Fel
e AR 27
(a) 3000
(c) 1800

(b) 2000
(d) 1500

.In a class, the average score of

girls in an examination is 73 ahd
that of boys 1s 71. The avéi"}e!.gé
score for the whole class4s 71.8.
Find the percentage of girls.

T T §, U Fe  Afeal A
WliF 73 & AU FSHi B AN Wi
71 % i hen 1 2iGd o afg 71.8
(a) 40% ,~.J (b) 50%

(c) 55%,.~  (d) 60%

TleBtS for all but 100 seats in a
10,000 seat stadium were sold.
Of tHe tickets sold, 20% were sold

“.at’ half price and the remaining
. tickets were sold at the full price

.Ram saves 14% of his sala_r:-yl\"- ’
while Shyam saves 22%. If both+

205.

of * 20. The total revenue from
the ticket sales, (in ) was :

T# w=fgam % 10,000 @i o @ 100
e F S gy @E # fowe fa T
o U fomel § 20% feshe o s® W
Aa1 ¥ feme 20 & gL g W &9 Y,
fomre fot & =@ Tt ama 27

(a) 158400 (b) 178200

(c) 180000 (d) 198000

31% of employees pay tax in the
vear 2008. Non- tax paying em-
ployees are 20,700. The total
number of employees is:

a 2008 H 31% FHAH FH(F) H
PEA FW B SH(H) T O A
FHafEl #1 Hem 20,700 €, @ w5
o =l 22
(a) 31,160

(c) 30,000

(b) 64,750
(d) 66,775

206.

207.

The allowance of an employee con-
stitutes 165% of his basic pay. If
he receives * 11925 as gross sal-
ary, then his basic pay is (in ):
TF FHAN F 991 SHE Hel dad Hl
165% %1 afs 38 %o 9a4 '11925
fiyeran 2, o SHSHT G A Foka 27
(a) 4000 (b) 5000

(c) 4500 (d) 5500

The population of a town 1is
3,11,250. The ratio of women to
men is 43 : 40. If there are 24%
literate among women and 10%
illiterate, \among men, the total
number of literate persons in
the ‘town 'is:

@waﬁ g 3,11,250 71 wfeenst

O G 1 ST 43 140 1 A Aieensi
- F24% Forfer & aen gl F 10% frer

208.

209.

210.
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¥ @ wex 1§ fofaei = den w0 £

(a] 1,70,700 (b) 1,73,700

(c) 1,75,700 (d) 1,73,200
The population of a village is
25,000. One-fifth are females
and the rest are males, 5% of
males and 40% of females are
uneducated. What percentage
on the whole are educated ?

s Tifa H FAEE 25,000 #1 SAHE
ﬁ%qﬁaﬁ%amﬁﬂw%‘m%w

A9 40% wfeend fen €, a1 foras i
@ TR €7

(a) 75% (b) 88%

(c) 55% (d) 85%

A box has 100 blue, 50 red balls,
50 black balls, 25% of blue balls
and 50% of red balls are taken
away, Precentage of black balls
at present is

uF 91 H 100 e, 50 @@ ge1 50
et 1 &1 25% e 7 791 50% o
% Frep = T, T S o fRe wiawe
e W 2
(a) 50% (b) 25%

© 335% (@ 40%

A dozen pairs of socks quoted
at * 180 are available at dis-
count of 20%. How many pairs
of socks can be bought for * 48?

www.spardha.guru



211.

212

213

214.
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TF To SIEl el # SAfEd 9o4°180
T ¥R 38 W20% e 9 A6 €, 948
H faradt Sidt Sd et s w1
(b) 4 pairs
(d) S pairs

(a) 3 pairs
(c) 2 pairs
The price of a school bag and a
shoe are in the ratio 7 : 5. The
price of the school bag 1s * 200
more than the price of the shoe.
Then the price of the shoe is:
TF THA A AA TF ] g F I
7:5 1 el 9 H 94, SH F 649 9 200
T A €, S R S|

(a) * 200 (b) * 700

(c) * 500 (d) * 1,200

_Three sets of 40,50 and 60

students appeared for an
examination and the pass
percentage was 100., 90 and 80
respectively. The pass
percentage of the whole set is
40, 50 T GO BT H T FE TH THaT
4 ynfaer g0 ST Soar ® Yaee
FE: 100, 90 7N 80 ¥, A wE
et waa =1 wfTeE = w17

2 2
(a) 88-?;% (b) 843%
(c) 881% d) 841%

3 3

.The sum of two numbers is

520. If the bigger number 1s de-
creased by 4% and the smaller
number is increased by 12%
then the numbers obtained are
equal. The smaller number 1s

= demstt 1 Am 520 €1 Atk wd wen
4% W@ & W IR BE "em 12%7
@ § I, a‘immwmﬁg,?

o BE & A6 HL7 )

(a) 280 (b) 240 .

(c) 210 (d) 300-."/

In two successivé'-yﬁeférs, 80
and 60 students of a school
appeared at “the final
examination, of which 60% and
80% passed respectively. The
average rate of students passed
( in percent ) is:

TR = qE | U faemerE % 80 wen
60 B At wlen 39 & o Fww:
60% 7T 80% B WEE ©W €, @l
Sia Twe B F ulave @ €2

4,
(b) 68—7-;6
(d) 36%

(a) 68%
(c) 32%

215.

216

217.

In an office, 40% of the staff is
female. 70% of the female staff
and 50% of the male staff are
married. The percentage of the
unmarried staff in the office is

frdt Fmfea § = 1 40% ufeerd
&1 70% Afgen =E 1 791 50% TET
wi faefed @1 wElem § afgerfa
W% F1 AfawE 87

(a) 65% (b) 42%

(c) 60% (d) 64%

.From 1980-1990, the populat-

ion of a country was increased
by 20%.

From 1990-2000, the populat-
ion of the country was increased
by 20%.
From 2000-2010, the populat-
ion of the country was increased
by 20%.

Population (in percentage) of the

country from 1980-2010 was
increase by

1980 9§ 1990 @% fF %*a . emﬁr
20% FA|

1990 & 2000 @& 'az a“a aﬁ AR

20% =& .

2000142010%?5-@ I AT
20% = 1980 ¥ 2010 7% 39
(a) 722% ~  (b) 72.8%

(c) 60% (d) 62.8%

If a_person spends 40% of his in-

"come on food, 20% on house rent

218.

and 70% of the remaining on

- children's education, then the

percentage of his income left is
afg &€ =Afaa T sma @1 40% A
W, 20% "FH &> W I @@ 70%
el w R W wE g, A SEw
A F1 R gfavd s=n?

(@) 6% (b) 8%

(¢) 10% (d) 12%

What percentage of the whole
week does Ajay spend in office,

if his office hours are 9 am to
5 pm from Monday to Friday?

afE a9 F FEied H 9T WA §
TFAL 9 a guE @ 59 W % 2,
Al @ @ wwe s T wfava se
W FEEE § o w87
(a)33.33%  (b)23.81%
(c)25.86%  (d)42.23%

219

220.

.There 1s a ratio of 5 : 4 between

two numbers. If 40% of the first
number is 12, then what would
be 50% of the second number?
< Hema =1 o 5 4 ¥ Afy Tt
He %1 40 favd 12 8, 9 gad sen
%1 50 ufaera @ gm?

(a)12 (b) 24

(c) 18

(d] Data Inadequate

In an election 10% of the voters
on the voter's list did not cast their
votes and 60 voters cast their
ballot paper blank. There were
only twos/eanditates. The winner
was_supported by 47% of all the
voters mn-the list and he got 308
votesymmore than his rival. The

sr-1umber of voters on the list was

. TF FE H 10 wfavE moarei e

221.

222
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“Ta 7 e siR 60 waseT ¥ WA F

At s R e © e A
forsial 3W{iear &1 Wasial g+l & 47
ufivrd wagdiet &1 wa fien 3 39 A
wfag=<t o 308 wa wfus foel gt o
wagaisl it gem fEat o7

(a) 3600 (b) 6200

(c) 4575 (d) 6028

The price of an edible oil is
increased by 25%. To maintain
the budget, Sushma reduces the
consumption of this oil by 20%.

The increase in expenditure
due to this edible oil is:

w|EA 9 % ged § 25 yfave 3fg et
21 T T F 90 W F g goH
T 9d F I94m H 20 yfawe wtwE
H T BRI el & FEOT AT H R

yfewra #1 gfg =mit?
(a) 0% (b) 1%
(c) 2% (d) 3%

.The ratio of the number of boys

and girls in school is 8 : 12. If
50% of boys and 25% of girls are
getting scholarships for their
studies, what is the percentage
of school students who are not
getting any scholarships ?

frdt fremem # wew ol w=fed =
Heq #1 39 8 : 12 %13k 50 wfewa
A AR 25% TASHA H AR B
o orgft e @ & df oeaf 9 T
e Bl % ufawe fraw 22
(a) 65% (b) 66%
(c] 67% (d) 68%
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223.

224.

225.

226.

Christy donated 10% of his
income to an orphange and
deposited 20% of the remainder
in his bank. If he has now °
7200 left, what is his income.
et 3 el a1 = 10 v e
 gF & AR 99w 20% Weve
A dw § S w A AR e SEe
g 17200 79 T df S8 2 ot 87
* 10000  (b)' 8000

9000 (d)* 8500

(a]

(e)’

; o 2
If Rajdhani is 165 % slower

than shatabdi, then shatabdi 1is
faster than Rajdhani by:

aﬁwﬁ,mﬁqﬁ#m% % it &

qt v, Tt | fra ufaea ot 2
(a] 20% (b) 25%

(c) 30% (d) 33%

The red blood cells in a blood
sample grows by 10% per hour
in first two hours, decreases by
10% in next one hour, remains
constant in next one hour and
again increases by 5% per hour
in next two hours. If the
original count of the red blood
cells in the sample is 40000,
find the approximate red blood

cell count at the end of 6 hours.
T W § ol e IR ged |
H § 10% wfd =2 #1  F 75t 2,
it et 52§ 10% wedt € AR el

227.

228.

229.

The average of marks obtained
by 100 candidates in a certain
examination is 30. If the
average marks of passed
candidates 1s 35 and that of the
failed candidates 1s 10, what
is the number of candidates
who passed the examinations?

ot olien § 100 SWEEW 31 Wi
1 3 30 #1 A Sl Sefiar &
fehi 1 A 35 F IR ST SRARAR]
%1 ef|a 10 €, o wen § 3<iof
Sufizan 1 wen fEad 22

(a) 60 (b) 70

(c) 80 (d) 90

In a motor of 120 machine
parts, 5% parts were defective.
In another motor of 80 machine

parts, 10% parts were defective.
For the two motors considered

together, the percentage of ©
g p g 233,

defective machine parts were

120 wRift qoif Ft Wex § 5% 49

a1 80 Wi q& I 5HT HEL #
10% 99 & 91 2 =it #1 e

T W qe # ufw fhe on?

(a) 7 6.5

(c) 7.5 @8

A man spenaé' a part of his

monthly income and saves

the restvTFhe ratio of his

expend1ture to the sav1ng is
61 ! 6:1f his monthly income
18" Rs 8710 the amount of his

‘monthly saving s

o2 3 et el & it fr ol € sl )

H 5% ufa =2 # @ ¥ "wwdt 21 afy

T T T FTE 40,000 fa)

6 5 & W] A T BV
(a] 40000 (b) 45025~
(c) 48025 (d) 50025
A number is decreased by 10%
and the resulting number is
again decreased by 20%. What
is the final percentage of
decrease?
F HeA & 10% FH e S g
3R oo wen w1 20% W
o W @, o ofq H S F e
1 27
(a) 25%
(c) 27%

(b) 26%
(d) 28%
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230.

= A g1 ST AR T a=d B 2
IS = AN 9 F AT 61: 6
21 afz s9=t WfesF @ % 8710 =,

 TEF migw a9q 51 i fEa 22
(a) & 870 (b) % 690
(c) % 980 (d) % 780

A person loses 75% of his
money in the first bet, 75% of
the remaining in the second
and 75% of the remaining in
the third bet and returns
home with Rs. 2 only. His
initial money was

wF SAfad AT 75% uftr vl At
§, 99 H 75% TEd aet § dR) 9
H 75% Al st § T O aiR
FAd T 2 WHL AT T TEAN ITH
R ufy feat eft?

231.

232.

)18
“1¢) 50

234.

235.

236.
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(a) % 64 (b)%. 128

(c) & 256 ()% 945

If A 1s equal to 20% of B and B
1s equal to 25% of C. Then what
percentage of C is equal to A?

aft A, B % 20% % 90 & iR B, C
% 25% % s £, df C w1 fEa
yfoerd A & ST gm?

(a) 10 (b) 15

(c) 5 (d) 20

Kamal has some apples. If he
sold 40% apples more than he
ate if he sold 70 apples then.
How mariy he ate.

ATl % A e e ) Ie e |
m40%3¢1ﬁﬁﬂﬁl'ﬂﬁ'{ﬂﬁ 70 o=
o9 A # s e d

(b) 42

(d) 99

What is the difference between
0.6 and 0.6%?

0.6 3R 0.6% & == 1 %W 77
(a) 5.94 (b) 0.594

(c) 60 (d) 54

A's salary was decreased by 50%
and subsequently increased by
50%. How much percent does he
lose?

A F1 37 50% =2 B w AR A ®
50% =1 fean man 9 faaq wfawm &0

w1 gé?
(a] 25% (b) 30%
(c) 20% (d) No loss

The ratio of number of boys and
girls in a school of 720 students
is 7 : 5. How many more girls
should be admitted to make the
ratio 1 : 17?

T A § 720 wE A wEwl diR
et % dem w g 7:5%1 1
S 1w oFE W # fon feed el
il T 9Gl HEN B

(a) 90 (b) 120
(c) 220 (d) 240
A  basket contains 300
mangoes. 75 mangoes were
distributed among some

students. Find the percentage
of mangoes left in the basket

F dF ¥ 300 @M Bl 75 AW wD
BE H foafa #2 fag o) 30 § 59
i = ufae S Hife)

(a) 70% (b) 72%

(c) 76% (d) 75%
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238.

239.

240.
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a class of 50 students is 70%.
The average of first 25 1s 60%
and that of 24 is 80%. What is
the marks obtained by the last
student?

50 B wE1 H A 70% FE
Ut fFu Mo ggm 25 Bl A Sgd
60% si® g R Siw 24 B A
3T 80% i U fau) sifae =@ 3
feraa of% wra fwu?

(a)90% (b) 60%

(c) 80% (d) 70%

In the last financial year, a
car company sold 41,800 cars.
In this year, the target is to
sell 51,300 cars. By what
percent must the sale be

increased?

fozel fog ad % #R S 7 41,800
FX S W 91 51,300 FX a9 H=
e 2 forht it o wfoera sigrn 22

9 9
(a) 1155% (b) 855%

11
8—% 22 %
() 83 (@

1A

The price of rice has increased
by 60%. In order to restore the
original price, the new price
must be reduced by
e F1 Fhd 60% € TE | =& H
T & AT T T F o 7E e w
foran &0 Fon =nfed?

1 1
(a) 337 % (b) 37 %

(c)40% (d) 45% _
The marked price of an artLCle
* 5000 but due to, festlval
offer a certain percent of
discount is declated: Mr. X
availed this opp01tu111ty and
bought the article at reduced
price. He then sold 1t at * 5000
and thereby made a profit of

is

1
116%' The percentage of

discount allowed was ?

farelt g 1 @ifa @ma 5000 2, g
eN & AU FB Favid &t F2 e
Y AR T A X T FIER F A ISW
B SU 9% FI HH F W FET W
ey § e 98 39 5000 § ¥4

21

242,

243.

éﬁ%‘aﬂiwﬁﬁn%%wwuﬁm
1 9aIEu 39 o 7 fad wfawrd w1 g2
T M eft?

1
(a) 10 (b)35

7l d]ll
©75 @11

A number is increased by 20%.
To get back the original
number, the increased
number is to be reduced by
firdt 5= = 20% =@ foar W
o Wem W AfE eH B fer aet 5
& &1 fwaw % w9 w5 s =nfeu?
(a) 20% (b)21%

1
() 143 %

162"/
() 165 %

A village lost 12% of its goats

in a flood and 5% of remainder
died from diseases. If the
number left now 1s 8360; What
was the original number before
the flood?

Eiic k] 12%'&%&3‘[%?3‘67&‘
AR V9w § § 5% sl fwe
A | W T SE A e § 8360
FHE WY VA IR AR | Ted e
F wor: e wEl o7

(a) 10003, (b) 10000

(c) 1,00,000  (d) 8360
A-scored 72% in a paper with a

{maximum marks of 900 and

80% in another paper with a

' maximum marks of 700. If the

244.

result is based on the combined
percentage of two papers, the
combined percentage is

900 tfyFan =T ¥ 94 AF U= fama
¥ 72% @ wra fpu AR g Ao F
HAfukan 700 7% § § 80% i+ W
wfeerer w= sl 8 o smey wfmfa
yiawman #1 &2

(a) 75.5% (b) 76%

[c) 76.5% (d) 77%

An army lost 10% of its men in
war, 10% of the remaining died
due to disease and 10% of the
rest were declared disabled.
Thus the strength of the army
was reduced to 7,29,000 active
men. The original strength of
the army was

245.

246.

et &1 % 10% 9 93 | vEE 5T,
39 10% 9EF W & W Y
e ¥m § ° 10% =t ez sifim
e T weER w9 F wfEg SEm
# e 7,29,000 ® T FdEt qdl
w9 H N H R sEE 97

() 1500000  (b) 1000000

(c) 1200000 (d) 1100000
What % of a day i1s 30 minutes?
30 foge = f@ =1 foma gfawm 2
(a) 2.83 (b) 2.083

(c)] 2.09 (d) 2.075

A businessman's earning by
25% in ene year but decreases
by 4% inithe next . Going by
this/pattern, after 5 years, his
total  earnings would be

~Rs.72000. What is his present
_earning ?

247.

248.
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Toreft =t #1 o wF 56§ 25% e

W 2 3 T I A 4% e
?1 39 WR diY od gvErd SHED el
M 72000 ® B0 SHH SHAE
frat & 2

(a) Rs. 10000 (b) Rs. 80000

(c) Rs. 40000 (d) Rs. 54000
In an exmination 73% of the
candidates passed in quantita-
tive aptitude test, 70% passed
in General awareness and 64%
passed in both. If 6300 failed in
both subject the total number
of examinees were

fort witen § 73% 3SHiEAR AERAE
safiep T (Fafefea Teizge 2w)
¥ Il gU 70% "EHE FH O @R
64% =HT fawEi 7 3afof gu)1 3fE 6300
Suitgan & fawat § v gy @t wmen
Fa fFr whendf o 2

(a) 60000 (b) 50000

(c)] 30000 ([d) 25000
A man spends 75% of his

income. His income increases
by 20% and his expenditure
also increases by 10% . Find
the percentage incerase in his
savings.

T e A9 F F 75% 9w
F B IEH 2T 20% A7 A & AR
@ df 10% @2 S 21 aaRn IHE

T9a | frat ufoew =1 9fg & ?
(a) 25% (b) 50%
(c) 15% (d 10%
|’ 285
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250:

251.

252.

A line of length 1.5 metres was
measured as 1.55 metres by
mistakes. What will be the
value of error percent?

1.5 W@ el TF WEA H TRt |
1.55 =z am T Ffe wfaew w1 e
FI EM?

(a)0.05% (b) 3=

1
() 35 % (d) 0.08%

A busulessman imported
Laptop, worth * 210000, Mobile
phones worth '100000 and
Television sets worth * 150000.
He had to pay 10% duty on
Laptops, 8% on Phones and 5%
on Television sets as special
case. How much total duty (in
rupees) he had to pay on all
items as per above details?

uF SO 3 ' 210000 F @I
‘100000 % Hi"Ee BF 3T 150000
+ etfEed W2 oman fHw 39 fawm
e F w9 W oM W 10% Wi W,
8% &t dft W 5% TF HG FEA
T 38 SR o AR et e
% fou fhad g2t (w0l ®) &1 A
FA BM?
(a) 36500
(c) 37250

(bj 37000
(d) 37500

1
A man spend 75% of his

money and after spending 75%

of the remaining he had * 370 .

253.

254.

% fafvem aifte w | < # 9w
T B fear B F miEwE #
qE # TEES TEe 31 60% #1103
9Rd 9 ol 30 uF feamig oA
TR BN MY SR S Gde 5 R
F1 30% & T M 39 F d" ' My
wF frarda #46 #1 %o d@en s

(a) 50 (b) 45

(c) 60 (d) 30

A boy found the answer for the

1

4

question 'Subtract the sum

and 5 from unity and express

the answer in decimals"
0.45. The percentage of error
in his answer has

as

4 L5

w4 g e 3 9 symes § g
mm045iﬁ1%|mmﬁ§%
F ufagmda =aEn?

4

(a) 0 (b] 50% o
11
goo
(c) 10% /8 7%
2017 Mains

The 'fﬁjr_%f-Sent population of a
town'is 26010. It increases an-
finally at the rate of 2%. What

“was the population of town 2

left. How much money did he".__ )"

have
wF A T et wafa @ "_75%
T TRl i S AR 75 %
FH F AE IOH bkl *370 == )
o T fee st o2

(a) 1200 (b} 1600

(c) 1500 (d) 1400

On a certain date, Pakistan has
a success rate of 60% against

India in all the ODIs played
between the two countries. The
lost the next 30 ODIs. In a row
to India and their success rate
comes down to 30%. The total
number of ODIs played between
the two countries is

286 |
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255.

256.

. years ago?

U Wl H SdHE S 26010 F
Wﬁmaﬁz‘%aﬁﬂﬁﬁﬁ&'ﬁ?ﬁ%l
2 94 Y Vel F SHEE #= off?
(&) 25000  (b) 25100

(c) 25200  (d) 25500

A vendor buys 6 bananas for Rs
25 and sells them at 3 for Rs 20.
What 1s his profit percentage?
T fadl 25 § 9 6 Fenl @l § 3R
20 % ¥ 3 el 99 WM T SHE @A
wfar e 27

(a) 50 (b) 40

(c) 60 (d) 30

Two labourers A and B are paid

a total of Rs 650 per days. If A is
paid 160 percent of what 1s paud

to B, how much (in Rs) is B paid?

1 . 1. .
| - Tl 1 =

257.

o83,

299.

260.
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Y@
) 4

&1 7orgr A ¢ B # ufd f57 et 650
® F1 gTaE R 5 g1 AfE A H ed
e JTaE, B #1 ER 9 P #®\
160 wfiwrd 2, di B sl foha1 M (&
#) faar wmn @2

(a) 250 (b) 400

(c) 350 (d) 450

If the price of pen decreases
by 20% then a man can buy 10
more pens for Rs 100. What 1s the
new price (in Rs) of each pen?
afs Fwm # FHma § 20% Ft FH B
%aausﬂ’mﬁ 100 ®94 # 10 #em
IR Al & v Fem #
w 1 E?

(b) 2

(d 5

After deducting 60% from a certain
number and then deducting 15%
from the remainder, 1428 is left.
What was the initial number?
ferdt gem § 60% # wd FH &
I den I g wem W " 15%
F1 FA wE W 1428 99 59 S B
Rk He = oft?

(b) 4200 (b) 3962
(c) 4150 (d) 4300
The number of trees in a town
ie 17640. If the mumber of trees
increases annually at the rate

of 5 % then how many trees
were there 2 years ago ?

wF YR H USl S gem 17640 ¥ A
IS Tt wen § 5% = AE W W Afg
Bt B 2 = weet Ui =i wen @ o ?
(a) 14000 (b) 15000

(c) 16000 (d) 19450

A, B and C are three student. A
got 18% more marks than B
and 12% less than C. If B got
220 marks, then how much
marks C has got?

ABam Cdtm o € A= BR 18%
sfas % 71 CH 12% &9 WS 8
%1 3fE B#1 220 3% 9w W6 €, @ C
(a) 230 (b) 295

(c) 240 (d) 290
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263.
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Amit donated 20% of his income
to a school and deposited 20%
of the remainder in his bank. If
he is having Rs 12800 now then

what is the income (in Rs) of
Amit?

sfid a1t 9™ F1 20% el H T |
2 31 & A9 W F 20% AH IF § 9
T 3W ¥ AR 39 W @ 12800 &
T4 2, @ o1t # o (% H) R R 2
(a) 18000 (b] 20000

(c) 24000 (d] 32000

If the price of onion increases
from Rs 24 /kg to Rs36/kg, then
by what percentage a household
should decrease the consumption
of onion so that expenditure
remains same?

afe oe w1 Yea 24%. ufd fem |
36%. yfa feuel s €4 v evl
Fl @S F @ fme ofave w8 #
= =ifen @ife == T w7

(a) 25 (b] 33.33

(c) 50 d 20

a% of b+b%of a =

b® a% +a® b%=__

(a) 2a% of b (b) 2a% of 2b
(c) 2a% of 2a (d) 2b% of 2b

If the radius of the cylinder 1s
increased by 25%, then by how
much percent the height must

be reduced, so that the volume
of the cylinder remains same?

afg sed = B H 25% # gig &
aﬁﬁ% at et A § frad wfaerd =t

HHA w7
(@) 36 (b) 56
(c) 64 @ 46 .«

_The monthly ncome ;jf"'zi.-person

was ' 13,500 and his"monthly ex-
pendlture was 9000 Next year
his income inéreased by 14%
and his expenditure increased
by 7%. The percentage increase
i his savings was:

UF safEd 1 WiEs 99 13,500 ®
ar suR wfgs @ 9000 #1 e
af IGHE 9 14% §¢ W © @R
TUF T 7% a2 S T, @ IHE A=
9 wfiem 9fg T w17

(a) 7% (b) 21%

(c) 28% (d) 35%

266.A,B and C are three students,

267.

268.

269.

A got 36% less marks than B
and 16% more marks than C.
If B got 145 marks, then what
are the marks got by C?
ABdu C o 21 21 A = B 36%
3% F9 99 C ¥ 16% HfuF 3w
T4 81 Ak B w1 145 3% W g¢ €,
C =i fred 3% wa g1 8h?

(a) 120 (b) 120

(c) 80 (d) 75

30% of a number exceeds 25%
of the number by 27. what is
the value of the number?

et w=m w1 30% SH "Wewm F 25%
¥ 27 aAfass 81 g w1 9F fre 87
(a) 540 (b) 270

(c) 108 (d) 90

If Ais 6 times more than B,

then by what percentage is B

is less than A?

a7 A, B %6 79 W #, 7 B, Aﬁﬁm
wfeom =1 #2

(a) 64.82 (b) 83.33_-.-

[c) 28.56 (d) 85.71,

If the radius of the cylinder is
decreased by 20%] then by how
much percent'the height must
be mueased 56 that the vol-
ume of thg cyhnder remains
same?

Qﬁﬂmaﬁﬁwﬂzu%ﬁﬁﬁﬁ
S A Tt e o frat ofavE =

SHEE @7

J 270

27

' (a) 20

(b) 36.25

(c) 56.25 (d) 65

.After deducting 12% from a cer-

tain sum and then deducting
25% from the remainder, 2508 is
left, then what is the imtial sum?
forelt Wem ¥ 12% ® i BE F
IUC a9l d9l g den 8 25% H
FAA FA W 2508 I A= @ €, Al

i wem F 27
(a) 3500 (b) 3450
(c) 3970 (d) 3800

Raman spends 80% of his in-
come. If his income 1is in-
creased by 25% and the expen-
diture increase by 10%, then
what will be the percentage in-
crease in his savings?

T A S 1 80% B L Al E
afz aF! =1 § 25% #1 5fE 2 & a

272.

273.

U o9 § 10% # o ek g @
IHHI F=d F fohm wfoed 1 9fg gnfiz
(a) 17 (b) 70

(c) 77 (d) 85

Pranita got 30 marks more in
Math than what she got in Sci-
ence. Her Math marks are 60%
of the sum of her Math and Sci-
ence marks. What are her Sci-
ence marks?

yoften =t nford | famm 9 30 i a1y
+ el 39 70w & faey &, i &f
fagm =& 2w & A F 60% T IS
famm ¥ frad oiw €2

(a)90 o (b) 150

(c) 120 (d) 60

A studéﬁt has to secure 35%
marks’to pass in a subject. If

r~he jgets 82 and fails by 23

_ marks.
‘marks of the subject?

274.

275.

276
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What 1s the maximum

TF BE H UH fFug § 99 ' & fou
35% Hw sAfsfa = 2@ afx s§ 82 oiF
e 2 3 8 23 ofF) Q@ el 8 S 2

1 39 fawa & stfusan % feay ® 2ni?
(a) 300 (b) 250
(c) 350 (d) 400

If 40% of x =y, then y% of 40 is

same as of x.
qfE x &1 40% =y €, d 40 F y%,

X ® ___ AEl g
(a) 16% (b) 4%
(c) 8% (d) 160%

Two labourers A and B are paid
atotal of Rs. 1120 per day. If A 1s
paid 180 percent of what is paid
to B, how much (in Rs) is B paid?
< wegy A @ B &1 ufd f&A 1120 & &
wel Y F QA 9w €A A,
B #! yam &t T Afe w1 180 gfava
A A U ®, df Bl fee g
(= ®) fam sm 22

(a) 400 (b) 720

(c) 500 (d) 620

.A man wills 25% of his wealth

to charity and rest to his fam-
ily. What percent of the wealth
willed to charity does the fam-
ily get?

F AP e HafH w1 25% TA IR
13w # R wafa w1 feow whiew
uftEm 1 fierr 82

(a] 200 (b)33.3

(c) 300 (d)25

|’ 287
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277.

278.

279.

280.

281.

Two numbers are 10% and 20%
lesser than a third number re-
spectively. By how much per-
cent is the second number
should be enhanced to make it
equal to the first number?

< deA dedt g ¥ FE: 10%
20% U ¥l Tgel WAl % aUA T B
o g ) A SER A
S Hehel €7

(a) 10 (b) 15

(c) 12.5 d) 8

A student has to secure 40%
marks to pass. He gets 67 and
fails by 13 marks. What is the
maximum marks?

UF 91 F1 001 84 % foru 40% 3w wa
T B €1 98 67 3k U@ g AR 13 HH
G fawer 81 S 21 S o F '2
(a) 300 (b) 200

(c) 150 (d) 240

When the number is increased
by 120, it becomes 130% of it-
self. What is the number?

SE U GEA B 120 ¥ FeE W g,
@ 72 = # 130% W 9 2, T
@ 1 7

(a) 400 (b) 520

(c) 460  (d) 580

A man wills 40% of his wealth
to his wife and rest to his chil-
dren. What percent of the

wealth willed to the wife do the
children get?

282.

283.

284.

285

() 300
(¢)220
/286.

U =Afda S0 wafa w1 40% SO Te

1 3l 9 S T 2 R A

mwﬁmﬁﬂmfaﬁmu@?ﬁ%?
(a) 150 (b) 66.6 /7
(©) 50 @200 >

Priya got 9 mmk&mc:rc in His-
tory than what ‘she“got in Ge-
ography. Her history marks are
56% of the sum of her History
and Geography marks. What
are her Geography marks?
foen =1 sfder ¥ omiet § 9 s afy
% el 3o+ sfoee & oiw s98
zfaerd =R e & HH F 56% 2
IOF i F siF F 87

(a) 42 (b) 65

(c) S3 (d) 3

288 |
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287.

If 40% of a number 1s 290, then
what is the number which is
20% more than the initial
number?

afg TF &N F 40%, 290 T, A T
T FF W S UREE T o 20%
wfew 22

(a) 870 (b) 725

(c) 825 (d) 680

A is 16.66% less than B. If
value of A is 500, then what is
the value of B?

AB @ 16.66% #4 ¢ A A F1 77
500 &, @ B ®1 91 F41 87

(a) 583.33  (b) 566.66

(c) 600 (d) 620

If the side of a cube 1s in-
creased by 20%, then what will

be the percentage increase in __

the volume of cube?

A T T g 20% F A A

aﬁﬁ%,mma‘;mﬁmﬁ.m

(a) 60 (b) 66,6,
(c) 72.8 (d) 68:5

.P is 20% more th&n Q and 40%

less than R If value of Q is Rs.
150, then wHat is the value of
R (in Rs.)?7

P, Q @ 20% @ifr & @ R @ 40%
9 2 AR Q F WA 150 4 ¥, MR
1AM (F9E §) 7 T2

(b) 320

(d) 250

The price of motorcycle depre-
ciates every year by 8%. If the
value of the motorcycle after 2
years will be Rs. 84640, then

what is the present value (in
Rs.) of the motorcylce?

TF Tl WEfhT & Yed | uaE a9 8%
1 B Bl 1 A 2 9 915 "o Rl
F1 e 84640 T BT, Tt Wiex WEfrer
F T g (T ) @7 87
(a)90000  (b) 102000

(c) 110000  (d) 100000

X 1s 30% more than Y and 25%
less than Z. If value of Y 1z Rs
300, then what is the value (in
Rs)ot Z?

X A Y 30% #fe® & aa1 Z | 25% FH
#1aft Y %1 |4 300 % 2, A Zw WA
(% #) T Bm?

288.

289.

(a) 390 (b) 400

(c) 470 (d) 520

The price of motor cycle depre-
ciates every year by 10%. If the
value of the motor cycle after 3
years will be Rs 36450, then
what is the present value (in
Rs) of the motor cycle?

TF HiR WEfRa F qed W uEE Ty
10% 1 @ @ &1 A% 3 =@ = A
TrEfee 1 qed 36450 ¥ B Gl HieX
WEfFA F TN Yo (5 H) w87
(a) 45000 (b) 50000

(c) 48000, (d) 51000
If25% of amumber is 6, then what
is the number which 1s 50%
mote than the initial number?

¢ afE U HET F 25%, 6 & a1 9% HEm

290.

291.

292.
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- T S IR HE F 50% wfew 2

(a) 36 (b) 24

(c) 30 (d)18

If the length of a rectangle is
decreased by 20% and breadth
is decreased by 40%, then what
will be the percentage decrease
in the area of the rectangle?

qft uw HAEd H @ § 20% @1
F AR B qem A F 40% FowH #
St 2, i Ed # aeee § fae wfawrd
P FHH B2

(a) 48 (b) 52

(c) 60 (d) 40

If the radius of a circle 1s de-

creased by 10%, then what will
be the percentage decrease in
the area of circle?

afg v g9 w1 e 10w F o F
St €, @ g9 # Awe ¥ fha wfava
FI FH ghfi?

(a) 19 (b) 20

(c) 21 d) 23

If length of a rectangle 1s in-
creased by 10% and breadth is
increased by 15% then what

will be the percentage increase
in the area of rectangle?

aft T AP F T ° 10% F gfs
a1 weE | 15% =i gfg =1 =t &, a
SEa & gEwe § frad yfaea #1 9fs
2rt?

(a] 25.5
(c) 28.4

(b) 25
(d) 26.5
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295.

296

297.
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If the base of triangle is in-
creased by 10% and height is
decreased by 20%, then what
will be the percentage change
in the area of a triangle?

afs ww faqw & omar | 10% =1 gfs
1 W € a9 S § 20% R F
Wt €, At BgE & dewe o e
Hiaerd 1 9fedd Br?

(a) 30 (b) 20

(c) 22 (d) 12

If the radius of a circle 1s in-
creased by 50% then what will

be the percentage increase in
the area of circle?

af w9 F B A 50% Fafs B
STt # at 99 % dawe ¥ fRe wiae
=1 gfg g7

(@) 110 (b) 125

(c) 80 (d) 100

If the height of cylinder is in-
creased by 35% and radius i1s
increased by 10% then what
will be the percentage increase
in curved surface area of cyl-
inder?

g TF S = =g | 35%F Ifs F=
St & A B H 0% 9fs 5 St
2 Ao F wF gfied dawe | o
wfoerd #1 3fs #f?

(a)46.5 (b) 45

(c)48.5 (d) 49.7

.If length of a rectangle is in-

creased by 20% and breadth is

increased by 30%then what / .

298.

299.

300

301

A person spends 30% of his in-
come on food 20%children's
education and 60% of remain-
ing on house rent. What percent
of income is left with him?

T safaa ST S FT 30% WIS T
20% Tl wm foen woasn 9w w

60%E & T W =99 &ial B SEH

R s 1A 2 I o 1 1 s B e e | Y
(a) 20 ()30
(c) 35 ()35

If the length of a rectangle is in-
creased by 50% then by how
much percent i1s breadth should
be reduced to keep the area the
same?

Ifg U AT W eEE ® 50 giave
TR W 2, A SH AR H R

9% Fufiafdd @2
(a) 50 (b)33.33
(c) 66.66 (d)25

.A 1s 20% more than B a.ndB 1s

30% less than C.2If A.is 210,
then what is the.talue of C?

A, B 20% #fy#& @1 B, C4 30%
9 @ afz A, 210 & @ C =1 w1 71 27
(a)242 /7y (b) 250
(€)220°)  (d)235

.The price of an article i1s cut by

3%.To restore its original

Cvalue, the new price must be

will be the percentage increase ../

in the area of rectangle?

fS U AP 1 A= H 20% F5E do
e’ H 30%H Ifg F AR, s
(a) 50 (546~

(c) 56 (62"

Salary of A is 20% more than B
and salary of B i1s 18% more
than C. the salary of C is (ap-
proximately) How much per-
cent less than A?

A #F B ¥ 20% SR & G41B #1
M C¥® 18% 9=l 8l C &l oA
(7)) AW fwa ufawe =5 22
()29.3%  (b) 32.5%
(€)26.7%  (d) 28.1%

302.

303

~ increased by

TF 5 F FEa § 3% H 92 & Sl
T QO g avw @i & fay fRe
yfavm 9 gfg *oh =feu?

(a) 3% (b) 7.11 %

(c) 3.09 % (d) 2.69 %

A student multiplied a number
by 5/6 instead of 6/5. What is
the percentage error in the cal-
culation?

TH B A TH FEedN # 0 6/5F
a9 5/6 9 %X feam zm o F wfave

Afe ot g2
(a) 44% (b) 30.56%
(c)15.28%  (d) 22%

.A student multiplied a number

by 4/5 instead of 5/4. What 1s
the percentage error in the cal-
culation?

TF BE A THE G H MW 5/4 F
womg 4/ 5 9 % fEmn 3= o | wie
Ffe et wmi?
(a) 56.25%
(c) 28.13%

(b) 18%
(d) 36%

304.Two students appeared for an

305.

306.

307
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examination. One of them
secured 20 marks more than the
other and his marks were 55%
of the sum of their marks. The
marks obtained by them are:

T BE TH T H A3 3 9 U
q 3wt wm oqem # 20 oAw arfuw
e fFd oft 3% o1 39 <91 &
s A F1:55% 2 3T T A fRa
£ mﬁm?

(a) 92.and 72 (b) 83 and 63
(c). 110 and 90 (d) 64 and 44

Two students appeared for an
“examination. One of them se-

cured 13 marks more than the
other and his marks were 76%
of the sum of their marks. The
marks obtained by them are:
3 B TE ThE W S E 9 T A
TH F I H 13 3% A wfee R
3R 3UF 3F A & FH B A0 H:
76% o 3 31 7 T o F = e
(@)19&6  (b)34 & 21

(c) 102 & 89 (d)92 & 79

Two students appeared for an
examination. One of them
secured 23 marks more than the
other and his marks were 60%
of the sum of their marks. The
marks obtained by them are:-

< BE Uk 9w § §d 39 9 U
3 gm w ogE ¥ 23 oHF afuw
zifge fFd il 399 of% 39 3 &
dq: F AT F 60% & 3T I A
forad &% T f&4d?

(a) 69 and 46 (b) 68 and 45

(c) 107 and 84(d) 54 and 31

If 21% of an electricity bill 1s

discounted, Rs 1817 1is still to
be paid. How much was the
original bill amount?

af; fredt foorelt & faet | 21% 9= &
S B, d@ o 1817 T 1 EE S A
® W Bl aratas fae ufen @ b9

(a) Rs 1502  (b) Rs 2336
(c) Rs 2300  (d) Rs 1538
| 289
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309.

310.

311.

312.

If 31% of an electricity bill 1s
deducted, Rs 1794 is stll to be
paid. How much was the origi-
nal bill amount?

ofe Tt fawett & far § 31% %Mt #1
W ¥, A 1794 & %1 YIEE B S @
e &1 faer 1 arafss ofe fead o
(@a)Rs 1369  (b) Rs. 2600

(c) Rs.2636 (d) Rs.1405
Daily local train ticket costs Rs
110 and monthly Pass costs Rs
2524 5 If Ram buys the monthly
pass and travel for 27 days in a
month than he will save
drFd 3 # o fowe w1 ged 110w
? 3R wifgs 99 F 9e9 25245 F #
afs 1w wfes TE wlEd € s uw
7eR H 27 BT A wa E, @ suEt

EEn Bt
(a) 14 % (b) 15 %
(c) 12 % (d) 25 %

Two students appeared for an
examination. One of them se-
cured 26 marks more than the
other and his marks were 75%
of the sum of their marks. The
marks obtained by them are

T o TE T0ET H 98 3H W uE
T FH qor H 26 A0F wfimw wfaw
ford, SU 3iF ST A & A F F A H
75% €1 39 <F1 9 fohad s g fRd?
(a)53 and 27 (b) 60 and 34

()39 and 13 (d) 78 and 52

Two numbers are 50% and 90%

lesser than a third number. By .
how much percent is the secc_)nd_' LFLE.

number to be enhanced to make .’

it equal to the first mumbef?"

<l Heard wh ded wew whodan H
50% 3T 90% F8 €1 TH M i Teet
HEA & aUa A F 1%111 ﬁﬁﬁ feerd
§ F@F By 7~

(a) 80 % (b)40 %

(c)44.44 % (d)400 %

A student multiplied a number
by 3/10 instead of 10/3. What
is the percentage error in the
calculation?

TF BE A TE GEN H PN 103 F
F99 3/10 § 2 f&2m =9 1 o wiava
Ffe fFat amit?

(a)1011.11 % (b) 45.5%

(c)91% (d) 505.56 %

290 |
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313.

314.

315.

Two students appeared for an
examination. One of them se-
cured 9 marks more than the
other and his marks were 56%
of the sum of their marks. The
marks obtained by them are
< BE UE g ° 43 39 @ A g
F e ¥ 9 3 afue wifue R AR
TF F 3T A H AR F AT R 56%
g1 3 TA A foRe ofF wra fFa2
(a)40 and 31 (b)72 and 63

(c) 42 and 33 (d) 68 and 59
Two numbers are 30% and 37%
lesser than a third number. By
how much percent is the second
number to be enhanced to make

it equal to the first mamber?

T HEAld UF dred Se  #oqer o

30% v 37% %9 ¥ <@l A
TEell WA & gUE & & faw 3% .
frm wfwe @ =g wm?

(a) 10% (b) 7% J
(c) 11.11% (d) 18.92:%---"
An engineering student’ 'ﬁhé;s""to
secure 25% marks to paés; He
gets 47 and fajls by 43 marks.
What are the maximum marks
of the examifidtion?
25% i 2T F0 2R 81T 47 o
fiTeT 3T 43 S @ STl 8 T
#| 59, qlen & sifrpan si® e €7

(&) 385 marks (b) 410 marks

317.

. (c) 360 marks (d) 435 marks

If the radius of a circle is in-
creased by 25%, its area in-
creased by:

af s FaEr # e § 25% #
gfg &1 Wl @ A SHE Auhd R
e[ =g S

(a) 50% (b) 25 %
(c)28.125% (d) 56.25%

Two numbers are 30% and 60%
lesser than a third number, By
how much percent is the second
number to be enhanced to make
it equal to the first number?

T e U fHi gEm & qern §

30% #HIX 60% F9 &1 a0 WeA +1 geell
Hem & 9 w4 % foun fear ufawa
TG T2

318.

319.

__(a}Rs'1437
“ (¢)Rs 2500

(a) 75% (b) 42.86%
(c) 30% (d) 50%
If 16% of an electricity bill is de-

ducted, Rs 1806 is still to be paid.
How much was the hill?

% Fareit Fart % et 16% 2 41 <t
FA avdt ot 1806 = 1 YHF FTW Tt
® o 1 S H fae feam ar?
(a]Rs 1557  (b) Rs 2186
(c)Rs 1593  (d) Rs 2150

If 27% of an electricity bill is
deducted, Rs 1825 1s still to be

paid. How much was the bill?
At faedt faselt & faa & 279% g2 @
Sl &, A A 1825 & 1 YA g
ala?rrs'sﬂHT%l e | faer fEam an?
(b) Rs 2536

(d) Rs 1473

320 The costs of daily ticket of local

223

322.
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train 1s Rs 130 and Monthly
Pass costs Rs 3091.40. If I buy
the Monthly Pass and travel for
29 days in a month than I save
(in percentage)?

w1 % 3F fome @ g 130 ®
& 4R Wfgs 919 * 99 3091.40 & 2
=iz mfeF or" el © & TE wen
H 29 fa zm &t €, @t 7 faat s=a
gt (vfqm #)?2

(a) 16% (b) 18%

(c) 15% d 14 %

Two number are 50% and 80%
lesser than a third number. By
how much percent is the second
number to be enhanced to make
it equal to the first number?

T Hed uF dwd §en & gem o
50% S 80% H 1 TEA HEA H TEel
e & 9+ % fou fem wfqem
=Gl B2

(a) 150 % (b) 60 %

(c) 30 % (d) 37.5 %

The costs of daily ticket of local
train is Rs. 50 and Monthly

Pass costs 18 Rs. 1125. If I buy
the Monthly Pass and travel for

30 days in a month then I save?
dEa A FE e T g 0 F E
3wt o 1 ged 1125 ® A d
wife T Eled § AR T WA § 30

& am w €, @ 5 et a=a awf?
(a) 10 % b) 25 %
(c) 14 % d 15 %
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323. Two students appeared for an 328.Daily local train ticket costs Rs.

324.

325.

326.

327.
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examination. One of them se-
cured 16 mark more than the
other and his marks were 75%
The
marks obtained by them are

% oA TF e § 9 W A
T F ger 7 16 3fF sfus afae g
9N IEH #F I A B A F AN B
75% 9 29 2Ff 3 fEad a@% yra feu?
(a)98 and 82 (b) 49 and 33
(c)96 and 80 (d) 24 and 8

The price of an article is cut by
31%, to restore to its original
value, the new price must be
increased by

UF I H FHT H 31% F T2 & S
T O Yed amE @1 % fee fea
ufay | gfg wCA =fen?

(a)66 % (b) 44.93 %
(c)39.76 %  (d)82.5 %

The price of an article 1s cut by
36%, to restore to its original

value, the new price must be
increased by

S % F B A 36% B A S
qea ¥ T ufawa 1 35+ =fen?
(a)56.25 % (b)36 %

(c)26.47 % (d)45 %

The costs of daily ticket of local
train is Rs.160 and Monthly pass
costs Rs.2912. If I buy the
Monthly pass and travel for 26
days in a month then I save?

of the sum of their marks.

31 afe § s o9 el €40iR
e ﬂzﬁﬁqmmgmﬁﬂ

Fod feadl grfi? %
(a)25 % (by 22%
(c) 18 % @7 30 %

The price of an article 1s cut by
9%, to restore to its original
value, the new price must be
increased by

TF 9% F1 BT § 9% Ft g2 & SE
2 A Wed Avg @ # feu fEad
e 7 3fs wH e

(@)9 % (b) 8.83 %
(€)9.89 %  (d) 6.25 %

329.

330.

60 and Monthly pass costs Rs.
1566. If I buy the Monthly pass
and travel for 29 days in a
month then I save?

wiwa 29 % 3few fehe @1 Hea 60 %
% aff wifas o9 #1 geg 1566 © £
afg ¥ wifgs w@ eifigal € 3R uw
mH o 29 fa7 9 Fwa € @ 54
et a=a g2

(a) 10 % (b) 14 %

(c) 15 % d 12 %

Ticket for an adult is Rs. 1000
and a child is Rs. 500. If one

child goes free with 2 adults. If
a group has 17 adults and 5

children. What i1s the discount
the group gets?

332.

333.

A man spends 59% of his in-
come and saves the rest. What
percentage of his expenditure
does he save?

TF AEHT A9 2719 &+ 59% wd
FA E AR ST BT g9d wI e
a2 a wd w1 feadt ufavm s=a
HTl 27

(a) 7257 % (b) 83.19 %
(c)89.09 % (d) 69.49 %

Two students appeared for an

examination. One of them
secured 10 marks more than the
other and his marks were 75%
of the gui of their marks. The
marks obtained by them are:

2T e § 53 I T 3 g

“ Fyqe 4 10 3% s e R R

T TE B foHe F 99 1000 ®E O

MF TR T R FGE S0 F O

A TS F WA TH =0 IR
m%mﬁﬁwnnmaﬁt

5 m%mwwaﬁm@fhﬁﬁ?
()14.7%  (b) 32 %
(c)12.82 %  (d)/22%

Two numbers dre 35% and 40%
lesser tharpa third number. By
how much percent is the sec-
ond numbet to be enhanced to
make it’equal to the first num-
bef?" .

331.

35% @R 40% F9 T T wem H

/Tt WM # WO w0 F fow e
e 27 % 3 fohe 71 ea 160,
¥ ¢ SR WEE U w1 ged 29127%°

yicer | = g

(@)7.69% (b) 5%
(c)8.33% (d 12.5%

Two students appeared for an
examination. One of them se-

cured 22 marks more than the
other and his marks were 55%

of the sum of their marks. The
marks obtained by them
are

< oE uE qE W as I 9 uw A
T H gern o 22 aw afie aifaw
4 3R 3ES 3F o9 A F AW W
55% M A T 3F urd R
(a) 121 and 99(b) 43 and 21
(c) 58 and 36 (d) 86 and 64

334.

335.

336.
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T H T IE H AR F AN F 5%
41 39 A A for ofF ura w42

(a) 52 and 42 (b) 68 and 58

(c) 63 and 53 (d) 15 and 5

If the radius of a circle 1s in-
creased by 29%, its area in-
creases by:

4fg UF g9 I 5 J 29% # gfg F=
S ®, @ s emwe ¥ e wfave

gfz grft?
(a] 58 % (b) 29 %
(c) 33205 % (d) 66.41 %

A student multiplied a number
by 6/7 instead of 7/6 What 1is
the percentage error in the cal-
culation?

UF B A UE WA F IO 7/6 F T
6/7 | F fam 39 o H wfaee 3fe
forat 2fi?

(a) 36.11 % (b) 26.53 %

(c) 13.27 % (d) 18.06 %

The effective annual rate of in-
terest corresponding to a nomi-

nal rate of 7% per annum pay-
able half-yearly is

ufaad 7% =t widfas =10 a7 & FgEn

Hoafis ®9 ¥ &7 == &1 g9E aftes
=T R
(a) 14 % (b) 14.25 %
(c) 7 % (d) 7.12 %
|" 291
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337.

338.

339.

340.

341.

A rice trader buys 20 quintals
of rice for Rs 8580. However,
22% rice 1s lost in transporta-
tion. At what rate should he sell
the rice to earn 20% profit?
TF FEd AN 8580 F H 20 e
e el &1 wefE 22% e afee
H BE/ T € S §1T9 W 20% €9 W
F & fou e 3 = S =t
(a)Rs 278.8 per quintal

(b) Rs 514.8 per quintal

(c) Rs 660 per quintal

(d) Rs 654.2 per quintal

The price of an article is cut by
24%, to restore to its original
value, the new price must he
increased by _ .

TF o] H HHT H 24% FI B & S
81 qU ged A9E @ & fae A9 el
7 fea wfoea & 3fy = =ifew?
(a)24% (b) 19.35%

(c) 30% (d)31.58%

A student multiplied a number
by 11/13 instead of 13/11.
What is the percentage error in
the calculation?

TF B1F 4 TF G F1 0 13/11 F
F@ 11/13 ¥ FfEm g oo |
yfeera 3fe fFat Bnf?

(a)39.67 % (b)28.4 %
(€)142 %  (d)19.83 %

Two students appeared for an

342

343.

344.

W BE UE T H A I Y TF A
T FY qa H 19 e afuF e fF5
HR 39S FHF & A # 60% &1 34
TE 7 TR % wma R

(a) 78 and 59 (b) 57 and 38
(c)45 and 26 (d) 99 and 80

Two numbers are 35% and 50%
lesser than a third number, By
how much percent is the second
number to be enhanced to make
it equal to the first number?

X weAw uF AW W w5 e o
35% 3 50% *H & TH g #
Tecdl H= & St w1 % fou fear

yfawd & e gm?
(a) 23.8 % (b) 15 %
(c) 25 % (d) 30 %

Two students appeared for an

347.

348

aft tF FFFER 1000 ® ® TF a9
Fwa €, St 1250 ® % &9 ¥ fafed €,
dl o fehad @ w1 YNEY FY @l B
(a) 25% (b) 33.3%

(¢) 50% (d) 20%

An engineering student has to
secure 36% marks to pass, He
gets 53 and fails by 37 marks.
Find the maximum marks?
UF Tifafin m % S+ B F feg
36% 37 wfaet T €1 21 39 53 37F
fier & @R 7 37 @i § Sl € S
21 39 Wl # afuFan siF A e
(c) 275 marks (d) 250 marks
(c)300; marks (d) 325 marks

The price of an article is cut by

 33%, to restore its original

examination. One of them se-

cured 21 marks more than the

other and his marks were 80“/&
of the sum of their mar]___s_s.‘-'_’l‘hé
marks obtained by the}ri"' a?ré:-
3 B TE WA § 4 T W U
T H G H 21 oFF gAfew wifee 5
3 3OS 3iF I A & 7% & A #
80% &1 3 A A fhas 3 W fwa?
(a) 88 and.87y(b) 89 and 68

(c)28 and.7 (d)98 and 77

A studeﬂ’t multiplied a number
by/5 /7 instead of 7/5. What is
the percentage error in the cal-

“culation?

examination. One of them se-"__

cured 24 marks more than the

other and his marks were’65%
of the sum of their marks! The
marks obtained by them are___
A oA T T A S W A
T H gl § 24 i e afge
4 3 SF B AM Hw 65% 91 =
A A fFa & uw fRa

(a)78 and 54 (b} 85 and 64
(c)67and 43 (d) 52 and 28
Two students appeared for an
examination. one of them se-
cured 19 marks more than the
other and his marks were 60%

of the sum of their marks. the
marks obtained by them are

292 |
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345.

346.

;T 9 A TE HEd #9075 H ae

5/7 ® 1 fem g o H wfave gz
fopat grit?

(a)48.98 %  (b)96 %

(c)24.49 % (d) 48 %

A student multiplied a number
by 4/7 instead of 7/4. What is
the percentage error in the cal-
culation?

T O 7 TH H&A & 00 7/4 & g
47 ¥ = fEmm zm o F wioew Ffe
fepat &rit?

(a) 206.25 % (b)67.35 %

(c) 33.67 % (d)103.13 %

If the shopkeeper sells an item
at Rs 1000 which is marked as
Rs 1250. then what is the dis-
count he is offering?

349.

350.
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~value, the new price must be

increased by

U % 1 R | 33% H g2 3 S0
B T gew Av| o foe fee
vfea o gi Fwt =fgn?

(a) 33 % (b) 49.25 %
(c)24.81 % (d)41.25 %

If the price of milk increases
from Rs 60/ Kg to Rs. 70/kg
then by what percentage a per-
son should decrease the con-
sumption of milk so that expen-
diture remains same ?

afs 34 #1 97 60 ® ufd fod m q q@a
70 ® vfa @ &1 5 2, @ = AfE
F g9 F1 Tua s ufawa | #0 #
< =ifen @if == T @ 7

(a) 16.66 (b) 14.28

(c) 12.33 (d) 17.33

Price of sugar increases by
30%. If expenditure increases
by only 10%, then by how
much percent consumption
should decrease?

= & g9 § 30% F1 gfg Bl 2
Afz = Fad 10% ¥ T € @ Tua
¥ foree wfaera =61 ®H1 B2

(a) 14.29 (b) 15.38

(c) 13.68 (d) 16.54

www.spardha.guru



351

352.

353.

354.

info@spardha.guru

.01l equal to 20% of the weight

of ground nut is extracted in a
mill. The matter left after ex-
traction 1is sold as cattle feed at
the rate of Rs. 12.5/kg. the
groundnuts are bought at Rs.
20/kg. The processing cost is
Rs. 5/kg. At what price (Rs per
kg) should the o1l be sold to earn
20% profit on total costs (Total
cost = Cost of groundnuts and
processing costs)?

et foet o grelt & aed & 20% &
FUaL oa e s 71 ek & v
St 9=l S SH 9 ® e % o
12.5 =9 viq fm. & fewa 9 &= S
1 el 20 wwE/fE. < feam | wld
T YRR F S 5w/ Eemm g
@ 1 fFa qea W (% / fEanm) w
S WU aifE He FwiEd W 20% o
fiell (=@ Hd - grel F1 FiEd 2w
WA & HEd)

(a) 250 (b) 150

(c) 200 (d) 100

40% are the passing marks. A
students gets 250 marks yet
fails by 38 marks. What 1s the
maximum marks?

30T BH 2 STRIE 3F 40% 71 R
BHE 1 250 i foerd & vy fm o =
38 i @ el & WA g1 s
s T ®7

(a) 720 (b) 750

(c) 800 (d) 840

Ravi is 12 years younger than
Surya. Ravi's age is 40% of the

sum of his and Surya's age.

What will be Surya's age of
\:'358.

years hence?

1, qmﬂlzma@‘la%mﬁsm?ﬂg
Ercd) ﬁlqgnﬁma:amaafm%%l
T § 9 o AR T G2l anf?
(a) 36 (b) 247 ;<

(c)33 (dy4s

Avtignie atiinal Geeomns b .

creased by Rs. 5 lakhs but the
tax on income that he has to pay
has reduced from 12% to 10%.
He now pays Rs. 10,000 more
income tax. What is his in-
creased income (mn Rs. lakhs)?
% Al &t affe 2/ 5 @@ § 9
W & T SH @ A AEE 12%
4§ 10% @ sl &1 @« 39 10,000
w3 g8 o (ara w9 H) fEad 82

355.

356.

357

(a) 20 (b) 25

(c) 15 (d) 10

A wholesaler sells a watch to a
ratailer at a profit of 8% and the
retailer sells it to a customer at
a profit of 12%. If the customer
pays Rs.8,448, what had it
cost(approximately) to the
wholesaler (in Rs)?

T 9idk Tashar 8% o9 & WY FERT
faehdl 3§ U FH 12% 9 ® Y
d=al 21 Afk ueE 8448 T S
F@ B A o faga 3 ==t wmem

forad (vwal ) # @del 47
(a) 6981 (b) 6082
(c) 7120 (d) 7022

When a number is increased by

20, it becomes 116% of itself. |

What is the number?

v foRdlt e § 20 wier S 21 Al

& 1 116% 21 S €1 HEA 7 B
(a) 100 b) 250 P&
(c) 125 (d) 400

Two numbers are 50% and 75%
lesser than a thifd ntimber. By
how much pereent is the second
number to bé""e\nﬁanced to make
it equal te(the first number?

2 e forel Al wem @ 50% 3R
75% R ¥ gudt wen F1 e whw
m ST fi 9% Jeel WEm & A

A
(a) 50 (b) 25
' ()75 (d) 100

359.

Price of petrol increased from Rs
60 /litre to Rs. 75/litre. How mnich
should the consumption of petrol
be reduced (in %) so as to in-
crease expenditure by only 10%?
TSI H HHA 60%/ T W agH
75%/FAX 71 A F1 U2 H @ud H
fohaeT 8 (% ®) BT TR A1 9@l
&A1 @H had 10% ®7

() 12 (b) 20

(c) 15 d) 18

If a dairy mixes cow's milk
which contains 10% fat with
buffalo's milk which contains
20% fat, then the resulting
mixture has fat (120/ 7]% of fat.
What ratio was the cow's milk

mixed with buffalo's milk?

360.

(640
361

362.

363.
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w2 T w1 g faed e ()
F1 9fvE 10% €, 1 99 F 99 F Wy
fremdt & fsad 20% =@ € < wftord
fagor o =@, T@n &1 (120/7)% &
#1719 g o § 9 % gy
% oy e ™=

(@2:5 (b)1:5

(€)2:3 d2:1

If 35% are the passing marks.
A student gets 200 marks yet

fails by 24 marks. What is the
maximum marks?

afc 9@ B84 F fouw 35% a(w &
AT B 81 U farneff #1200
aF fiel g =e 24 Ha0 ¥ Ha @
W|31f‘wcﬁwg?

(a] 8207 (b) 550
(d) 680

A’ student gets 22 marks more

'in French than what she got in

German. Her German marks
are 28% of the sum of her
French and German marks.
What are her French marks?
foret famnedl =t e o -9 § 22 FF
stfir firen so= -l o firs ofF %=
#r s § firet s F A F 28%
21 38 B9 4 fga % e

(a) 14 (b) 36

(c) 18 (d) 42

2% of a = b, then b% of 10 is the
same as:

a® 2% =b,d 10 =1 b%__
EL E

(a) 200% of a

(b) 20% of a/100

(c) 20% of a/10

(d) 200% of a/10

A man's annual income has m-
creased by Rs 1.2 lakhs but the
tax on income that he has to pay
has reduced from 12% to 10%.
He now pays the same amount
of tax as before. What is his in-
creased income (in Rs lakhs)?
F AfFd F aifts o § 1.2 7§ Fi
s B § W S W e el
12% & 10% &1 S €1 31t 5 98 S
& F3 3 & e ves 3 an SEE W
& o (e % ¥) fRa 27

(a) 8.4 (b) 7.2

(c) 9.6 (d)6

ED
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364. Two number are 90% and 75%

lesser than a third number. By
what % should the first num-
ber be increased so that it be-
comes equal to the second
number?

o wE s A wEn @ 009 v
75% FH 8| BTl weAa | T %

(a) 280
(c) 500

(b) 400
(d) 350

366.An investor invested his sav-

ing in the stock market. The
value of his investments in-
creased by 12% and 9% in the
first year and the second year
respectively. If the value of his

368.

(a) 160 (b) 250

(c) 100 (d) 200

Two numbers are 40% and 80%
lesser than a third number. By
how much percent is the sec-
ond number to be enhanced to
make it equal to the first num-
ber?

gﬁgﬁﬁﬁlgm? T a’a’gﬂ investments after two years < gea fedt ded gen 9 40% 3
g became Rs 97,664 then how 80% FH T Zqd wWen # e

(#)250 (by208 much had he invested (in Rs)? TF WS W T 78 Teel W % AU

(c) 150 (d) 100 i AR A

365.A man donates 30% of his ki . ) B ST

wealth to charity. 30% and 25 =1 T o 5w fam = qoa o (a)100 | (b)33.3

% of the remaining wealth to Fo: TEe A W 12% SR g A H (c) 66.6°7;  (d)200

his wife and son respectively. . . ) . N W .

The rest he divides equally be- 9% 3fg g8 9f5 = w1 & @ 3WF  369. Pricerof“diesel increased from

tween his three daughter. One
of his daughter gets Rs 42 lakh
as her share. What was the
man's wealth (in Rs lakhs)?

U AfF A G T 30% 9 TF
YHETT HEM W1 T A #1909 afer
TR 30% AR 25% AT AT T
L e T o | I A |l e
YA 9 dfedl % 9" 99H ®9 9
fawifsd e &1 S9F! afedi § 9 TF

367

o1 %1 59 97 664 & T TN, A IHA
faamt faawr (& 8) foam an?

(a) 81000 (b) 75000

(c) 80000 (d) 72000

.When a number is incregsgdjby
24, it becomes 115% of itself.
What 1s the number? * )

s fell dem 1 24 @“amm e

Rs'457litre to 50/litre. How

©"much should the consumption
~of diesel be reduced (in %) so

as to increase expenditure by

only 5%?

ga ®I RWd 45 92 9fd ot 9
T 50 B i <l 2 S €1 e
*1 @ =i e =9 (% o) o wmg
% =1 F5a 5% 9% & "7

i T s E e v a%'m:-mmnswia_‘js’nﬁr%lagm (@) 5.5 (b) 5
T T (@ ® W) w0 4ar? F 77 (e} (d)4.5
. 2l
ANSWER KEY “’E’
1. (o 21. (a) 41. @) 61. (B 81. (b) 101. (a) 121.(a) 141.(d) 161.(a) 181. ()
2. (d 22. (a) 42. B 62 (8 82. (d) 102. (a) 122.(q) 142.(a) 162. (b) 182. ¢
3. (@ 23. (a) 43.4(d) 63. (a) 83. (c 103. (b) 123. (0 143.(d) 163. (b) 183.(d)
4. (d) 24. (a) 44 (a) 64. (b) 84. (b) 104. (b 124.(d) 144.(c) 164.(d) 184.(a)
5. (a) 25. () |45 (o) 65. (d) 85. (a) 105. (b) 125.(h) 145.(c) 165. (b) 185.(d)
6. (o 26. (c) | _%6. (d) 66. (d) 86. (d 106. (a) 126. (a) 146.(0) 166. (b) 186. ()
7. (9 27. (dy. |~47. (d) 67. (a) 87. (a) 107. (b 127. (a) 147.(d) 167.(d) 187.(d)
8. (a 28. (d/ 48. (o) 68. (b) 88. (b 108. (d) 128.(q) 148.(b) 168.(c) 188.(c)
9. (g 29. (d) 49, (o 69. (a) 89. (a) 109. (d) 129.(a) 149.(c) 169. (b) 189. (b)
10. (a) 20. (d) 50. (a) 70. (c) 00. (b) 110. (¢) 130.(h) 150.(c) 170. (b) 190.(d)
11. () 31. (4 51. (o) 71. (o) 91. (a) 111.(d) 131.(d) 151.(a) 171.(d) 191.(¢)
12. (d) 32. (a) 52, (b 72. (d) 92. (d 112.(d) 132.(9 152.(a) 172.(b) 192. (o)
13. (d) 33. () 53. (o 73. (d) 93. (d 113.(c| 133.(¢) 153.(b) 173.(b) 193.(c)
14. (b) 34. (a) 54. (a) 74. ([b) 94. (c 114.(cf 134.(d) 154.(a) 174. b) 194.(d)
15. (a) 35. (o) 55. (¢ 75. (c) 95. (¢ 115. (¢ 135.(d) 155.(a) 175.(c) 195.(c)
16. (a) 36. (a) 56. (d) 76. (c) 96. (b) 116. (c 136.(d) 156. () 176.(c) 196.(c)
17. () 37. (d) 57. (b 77. (a) 97. (d] 117.(d) 137.(b) 157.(d) 177.(b) 197.(c)
18. (b 38. (o) 58. (d) 78. (a) 98. (b) 118.(d) 138. (b 158.(c) 178.(a) 198.(d)
19. () 39. (b) 59. (a) 79. (a) 99. (b 119.(d) 139.(d) 159.(a) 179.(e) 199.(c)
20. (d) 40. () 60. (g 80. (a) 100.(d) 120. (g 140. (2 160.(a) 180. (b) 200. (o)
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201.(a)
202. (a)
203.(a)
204.(b)
205. (c)
206. (c)
207.(b)
208. (b)
200 (c)
210.(b)
211.(c)
212.(a)
213.(b)
214.(b)
215.(b)
216.(b)
217.(d)
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218. (b)
219. (a)
220. (b)
221.(a)
222 (a)
223. (a)
224 (a)
225, (c)
226. (d)
227.(c)
228 (a)
229.(d)
230. (b)
231. ()
232.(c)
233.(b)
234.(a)

235.(b)
236. (d)
237.(c)
238.(d)
239.(b)
240. (a)
241.(c)
242, (b)
243.(a)
244.(b)
245.(b)
246.(c)
247.(c)
248. (b)
249.(c)
250. (a)
251.(b)

252.(c)
253.(d)
254. (a)
255.(c)
256. (a)
257.(b)
258. (a)
259.(c)
260. (b)
261.(b)
262.(b)
263. (a)
264.(a)
265. (c)
266. (c)
267.(a)
268. (b)

269. (c)
270. (d)
271.(d)
272.(d)
273. (a)
274. (a)
275. (a)
276. (c)
277. (c)
278. (b)
279. (a)
280. (a)
281. (d)
289. (a)
283. (c)
284. (c)
285. (a)

-4

286. (d)
287.(d)
288. (b)
289. (a)
290. (b)
291. (a)
292.(d)
293.(d)
204, (b)
295. (c)
296. ()
297. (a)
298. (a)
200. (b)
300. (b)
301.(c)
302. (b)

303.(d)
304.(c)
305.(a)
306.(a)
307.(c)
308.(b)
309.(b)
310.(c)
311.(d)
312.(c)
313.(c)
314.(c)
315.(c)
316.(d)
317.(a)
318.(d)
319.(c)

320. (b)
321.(a)
322.(b)
323.(d)
324.(b)
325. (a)
326. (d)
327. (c)
328. (a)
329. (c)
330. (c)
331.(a)
332.(d)
333.(d)
334.(d)
335. (b)

336.(d) j:’

337. ()
338.(d)
339.()
340.(d)
341.(b)
342.(d)
343.(c)
344.(a)
345.(b)
346.(d)
347.(b)
348.(b)
349.(b)
350. (b)
351.(d)
352. (a)
353.(d)

354. (b
355. (a)
356. (c)
357.(d)
358.(a)
359. (a)
360. (c)
361.(b
362. (b
363. (b
364. (c)
365. (b
366. (c)
367.(a)
368. (d)
369. (a)

. 4
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